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Question Paper Title : TAIT_PAPER_31

Date of Exam : 2017-12-18 16:00:00

1 Out of the given four words only one is spelt correctly. Find the word that is correctly spelt.

A.Glamorous
B.Goverment
C.Gaurd

D.Gaarantei

Answer:  A.Glamorous

2 geita Ia, R STdihgH 8 1 RIMER 01 A1 Iefdier g 17 T RIMIER 8. oR d TH01 gait
fopait 2

In a row of girls, Shilpa is 8th from the left and Reena is 17th from the right. How many girls are there in
the row?

2 LSS S Gae JUS | 55 17 = o8lad Sl 65 8 = oailes Wl (pae IS (S oS3

A.25
A.25
A.25

B.27
B.27
B.27

C.29
C.29
C.29

D.24
D.24
D.24

Answer: D.24
D.24
D.24
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3 {1,3,5, .. AT} BYAP IT TS, (x—2) (X - 7) (X - 5) (X - 47) = 0 B JHIBROI P QULEBRE  JHTT

A number P is chosen from {1, 3, 5, ....47} the probability that P satisfies the equation (x — 2) (x - 7) (x -
5)(x-47)=0is

53 P {16 3¢ Be L AT} S Ol o Bla LS lie e S glasa (X = 2) (X - 7) (X - 5) (X - 47) = 0 S giakaa S
=S

A.1/8
A1/8
A1/8

B.1/6
B.1/6
B.1/6

C.1/3
C.1/3
C.A1/3

D.1/5
D.1/5
D.1/5

Answer: A.1/8
A.1/8
A.1/8
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4 AT GIetd HIfgall dleoigad ardl o @reiar e T :
P,QR,S,T V3w Imysd Id IgHIT 3Med.T T a=fay |, eA R enfor e wgantt sneq.
ddF A e ®E HRAG- |, 11 T 1. U Teld U Ay iU fpam usp R fhar uep
g 3Tg. S g1 fary  31Tg 3101t P Tad 11-37 TTeTd 3. P 81 Yl 3. IT  TeTd $haes T 3ol
IR AR 3MTg. V BT Ay Q Hiad S1H &l Sl W HIdd $1H & A1g]. R W, R Had &H1H dd

gl
SR REAT I1-37 TTeTd YT aRid b T PAT T TeTd 9T aRid dl ok WIelleiteh! HIUd fau g 3fd?

DIRECTIONS: Study the following information carefully and answer the questions given below:

P,Q,R, S, T, Vand W are seven participants in a seminar. There are three students, two Lecturers and
two assistants among them. They work in three different groups I, Il and Ill. In each group there is one
student and at least one Lecturer or one assistant. S is a student and is in group Il with P, an assistant.
The other assistant is in group | with only T. V, a student works with Q who does not work with W.
Lecturer W does not work with R.

If R is transferred in group Ill and P is transferred in group |, then which of the following statements will
be true?

o Dl S sl 8 e sl g5y e e S il gl i an e iy

PeQeReSeTeV sl W alite o5 -0m (islaa 53 J5) )0l 50 cale Gl 0 (e 0 -0 oS 0 Gl (e g SO
G S Tl st N0 Gstae S L D eSSl S _w oS gl ale Qlla SOl e s 8 ow S8 a8 (e S 2 ple il KO
G 8 s Nl e Prs 8 stan | mis - o Oslae S 53 e il S Gipa e T o2 el S Ve ale il S Q il S
> S USAEW sl 2B S g S il SWeR . 2 US oS gl S

RIR QR S s = Ul LS Jiiie (20 Pras 8 S cmpa WS (pe lily dd aa e g 5 ¢ Ul by S Jiie
NG

A.1-TT TTETd $dd GIF g HTT RIdid

A.There will be only two participants in group Il
A RIS 0 eS8 92 a1

B.1-T1 TTeTd i g HTTt 3dia.

B.There will be three participants in group |
B.qu R 1 S U olS 5l oo (e

C.11-T7 TeTd diF TeHIT S¥did.

C.There will be three participants in group Il
Coos Bl S s eS8 0 e

DG UM TH Y B

D.Both assistants will work together
D. =S 0 S A8 e SOy slaa 5 g0

Answer:  A.II-T1 TTeTd %des gIH HeHT 3 adid

A.There will be only two participants in group I
Acs RIS 0 eS8 92 a1
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AT Wrellel Y2=Td IR / 919 3hean e 3med. di= / 9 dhcaiaed v fafiee aeg
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DIRECTIONS: In the following question, four/five figures are given. Three/four are similarin a certain
way and so form a group. Find out which one of the figures does not belong to that group.

L_}!"'u“'*!-?tirlg.}!ﬂ’—nj-!,)if’ Lp}ﬂhd{|4f3'w°uﬁﬁjwﬁ}ﬂiqfl3 JL_HAJIB..\.I.I J.;'JJEJJ..'J::.:;L_'J*
2y S ol 3l 8 jugums guS 2 o guo 0 28 S pslrn s - e W3S JiSiis w5 S Sl ke gul sl

T )

W & =
L S s,
WA, A
71X = | %= | X
= i N

(A) (B) ©) D)

C.(C)

Answer:

D. (D)

D. (D)

Name the famous ‘one-horn rhinoceros’ wild-life sanctuary in Asom.

= S S (i) (Bia MBS b 05" s e alu,

AHY
A.Manas
A. sl

B. IR

B.Kaziranga
B. & K

cirRmRx
C.Gir Forest
C. K £

D& -fot
D.Kanha-Kisli
D. s Wi
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Answer: B.WI%ﬂ?""IT

B.Kaziranga
B. &K ,als

7 I A fedl ™ $Iel Ay T Sl A “ SR, M| Td o U d 37 SR R
A Ry g @ AFG anTaia oMt = R e f3umr= srwu faam &t divar A

oC Y
dller ] Al d Al

faum:
HfRw ¢
ILH>I
N.1>F

DIRECTIONS: In the question given below, there are few statements followed by few conclusions. You
have to take the given statements to be true even if they seem to be at variance with commonly known
facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statements:
H<J=K=sI<F
Conclusions:
.H>I

N.1=2F

e e e S Blis s s jshale Sl 81 Gn asa e il gaS aay S il 638 (e J) s dd a1l
2 osb ik aaii Lt € LE L (e did S (S Alasd S Gl Gl e sl 0SS ) o fled by 8 0 ol e 8 K s
= S oom S alily K,

Hzdks:
H>1.
[>F .l

AW 1AW ag@HRu FHRar
A.Only Conclusion | follows
Aragii Coypal U S (5 Hm

B® I ©srgdmRur axal
B.Only Conclusion Il follows
B <o yual| 2GS 5 5m

C.| frar 11 a0} U AW © SR Al
C.Either Conclusion | or Il follows
C.l sl 2 BS Gam Sl o e
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D.ITIRENE v  3rgexu Hiiq Adla

D.Neither Conclusion | nor Il follows
D.l oS VS 0xd Gsom o2 05 = e 2l

Answer: D.ITlIgaNel MY ° fIdx0 oild Agd

D.Neither Conclusion | nor Il follows
D.l oSl VS Gxd Gsom o2 058 = e 2l

8 SR A,B,C,DIMTET U AT ‘& 38 o A:B=2:3, B:C=3:5, C:D=5:7 3Mf0I D:E=7:11 AT HUMG 3. TR
A:E M.

If A, B, C, D and E are five numbers such that A:B=2:3, B:C=3:5, C:D=5:7 & D:E=7:11. Find A:E ?

RIAB C D s E S s b il G st s AiIB=2:3¢ B:C=3:5¢:C:D=5:7 _sl D:E=7:11 55 A:E S0 S o slas

A2:11
A2:11
A2:11

B.1:2
B.1:2
B.1:2

C.3:7
C.3:7
C.3:7

D.5:1
D.5:1
D.5:1

Answer: A.2:11
A.2:11
A.2:11

9 QR U YUl X1 - * T AT Y8 HRTHR —-ommemmmee ;

AR
B.&Y
CHUS

D.7ldd
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Answer: NI

10 o A% A U 4 9 fquMried IR fau™ smgd af arardl A, B, C 3101 D 3 IR fau™ sire.
HaR  faymh SIS et am a3 yg faye guan faymmen gaad, s gl gl fdem dfess 1 0 @
ICRIBIICRARICREC R

SRAT S Sgu g9, R ot Al Sifor = 34
A HT  3Msd M S0 s9ad

B.AT 3MMsq M= Saur g g

C.HT Sgumd 3feR < graad 3iTs.

D.AT  Saund 3feR <ol Urdaid -Tel

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

If my mother cooks dinner , she garnishes extra cheese for me .
A. my mother cooked the dinner

B. my mother did not cook dinner

C. My food is garnished with extra cheese.

D. My food is not garnished with extra cheese.

tin S U sSss Sluia grand g R S8 _w bl S 63 o it ) el am S o alea Sl e JV g n Culy
on ilae S by 6 S e Bl Lea g3 Hgl Ly S ol gl (Salea 4 pegd alea Sy Gl

com T ) S o e 5 Gl LS (al (5 ne S
AL UeS 2 (o) (5 e -

BUlh e LS 5 (ol (50 -

C-ced oo ) RS (e S £ s

D-cst® L S 15380 (e eS 2 e -

A.AB
A.AB
A.AB

B.BC
B.BC
B.BC

C.DA
C.DA
C.DA

D.DB
D.DB
D.DB
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Answer:

11

Answer:

12

Answer:

D.DB
D.DB
D.DB

eI 3f g dd HIUT  dIfad dbal?

Who proposed the Atomic principle of matter?

©uS Uit o S ) a1 S i

AUl bl
A.Pascal
A.dSb

B.STH
B.Dalton
B.osils

C. e

C.Newton
C.(is

D.3{aTS!

D.Avogadro
D.s 38 sl

B.STH
B.Dalton
B.osils

Fill in the blank with the correct article.
He has honest face.

A.an

B.a

C.the

D.No article required

A.an
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13

Answer:
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THT g A fbAH T 0 A HU B 512 @GH U THART bl T SHIud idl 318, O

GBI

3ap AT PN AR B AR ?

A cube is painted and cut into 512 smaller but identical pieces by making the minimum possible number

of cuts. What is the minimum number of cuts required to cut a cube?

S S S S osSos SBIES (S oS oS LSS (a0 5358512 Tsen n ) S 2080 S S S

vajwjﬂc’&‘i‘sc‘ﬁr‘sc‘“

A.18
A.18
A.18

B.21
B.21
B.21

C.24
C.24
C.24

D.15
D.15
D.15

B.21
B.21
B.21
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14 AT GIetd Aifgall dleogad ardl o @reiar e 1 -
PQR,S,T VMO wImysd IdIgHI 3Med.T T da=fay |, eA R enfor <= wgantt smeq.
ddA A e ®E HRAG- |, 11 T 1. U Teld U Ay iU fpam usp R fhar uep
T 3Tg. S g1ty 31Tg 30Tt P Tad 111-37 TTeTd 3. P 81 Ygai 3. IT  TeTd Bhaes T 3ol
GIRT AR 3MTg. V BT fary  Q Hiad SH1H &l Sl W HIdd S1H & ATg]. R W, R Had &H1H dd
T8l
PN TTeTd g fae BT Hda?

DIRECTIONS: Study the following information carefully and answer the questions given below:

P,Q,R, S, T, Vand W are seven participants in a seminar. There are three students, two Lecturers and
two assistants among them. They work in three different groups I, Il and Ill. In each group there is one
student and at least one Lecturer or one assistant. S is a student and is in group Il with P, an assistant.
The other assistant is in group | with only T. V, a student works with Q who does not work with W.
Lecturer W does not work with R.

In which group do three of them work?

o s SOl K o s sl o5y e O S ilaslae Jd ke bl

PeQeReSeTeV sl W alise oo g - Oistaa 53 sl )saSl 53 qale allh s e O -0 #1850 Gl (e s SO

G R el s 1 -0 Osbae Sl b 5 aSal SGl oS oS ) ale e oSGl (e s R negm S oS 0 S = e Al S
G R s Nl se Prs 8 gstae | misd o slas S s e gl S Cipa pe T o el S Ve ale Gl Sl Q il S
2 o BRASW poasd 2 LS G S il SWER -2 US (el S gl S

Som 5SS e 3 8 O (o i e )

AFHIS |
A.Only |
A pal

B.%da ||
B.Only Il
B.Ci e Il

C.%ao I
C.Only Il
C.ciyalll

D.&ga5 |l fhar
D.Only Il or Il
D= 1L I

Answer: C.%dd ||
C.Only Il
C.ciyalll
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15 I UAS A Dol [AyF edT ™ RIARFY G M1 A1, 11, 1 3f07 VIR sifdhd b Tt
AR, AT T a1 <N I ared e aigt A Ry e 9d A g 3nfor /9 aRmar
ﬁ%ﬂ%ﬁ o Tt o fear  faum SERor SR,
faum
ATd oA 9 s,

B.®IUMGIfd T dex A9
C.®BIT ~ AR gAIPR 3 dId.
D.®lel [ ¥ faAM 3ryara.
Ay ©

|. HIUTATE! AT T Wex A9al.

Il. FTet gellpR T Ay 99drd.
111, B1e! fom foum srgard.

IV PTa! gtk T oy 3igdrd.

DIRECTION: In each of these questions a few statements are followed by four conclusions numbered I,
II, 11l and IV Consider the given statements to be true even if they seem to be at variance with
commonly known facts. Read all the conclusion(s) and then decide which of the given conclusion(s)
logically follow(s) from the given statements.

Statements:

A. All stairs are lifts.

B. No lift is an escalator.

C. Some escalators are helicopters.
D. Some lifts are planes.

Conclusions:

I. No stairs are an escalator.

Il. Some helicopters are not escalators.
lll. Some stairs are planes.

IV Some helicopters are escalators.

e gl e ey S il aS ae S s e @Y s il (e e | sl IV aided Canpn S Sl 8 o oom 8
Gilie il K s 0S8 WSS alas 5l g5y S @l g a8 e 5y S Glis aslaa y jshale oy aa S (o S
b S Gom S iy Ky sk

Ll

-0 Sl L Jas (g

= o Al Gl 5
o RS Gl Sl ea<
o s Sl Qil oS

COoW> [

dat

o o Al (b Sam (S8
. O o Sl SIS Ly ¢S
NI - Ol Blse ol S 28
AV O SAlSe) SIS L gaS

Adaes 9 1 i v Fread s
A.Only | and IV follow
Aciypal 55 IV on S8 Goom
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Answer:

16

Answer:

17

B.&as Ay | 3nfdr weer 11 fdar Iv fed s
B.Only | and either Il or IV follow
B.sral 5L s HLIV 0n 5SS 6w

cuepR Ay 1 fdar v Fua s
C.Either Il for IV follows
CsLIILIV = USsom

D.ge AW 1, 11 fhar v Rod s
D.Only I, Ill or IV follows
D.cipallle [LIV = BS Gom

BFae Ay | 3nfdr weer 11 far Iv Rod s
B.Only | and either Il or IV follow
B ral 5L s HLIV 0n 5SS Gsom

4380 +12x8=7
4380 +12x8=7

4380 +12x8 =7

A.2720
A.2720
A.2720

B.2925
B.2925
B.2925

C.2825
C.2825
C.2825

D.2920
D.2920
D.2920

D.2920
D.2920
D.2920

TR AR (R R ?

ATGISHR
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B.TS

D.BTold

Answer: C.fa=it

18 SSIT AT JAMIY X DU ?

AR
B.SIeR
C . SIAUIRT

D.3U

Answer: D.9U

19 T A0S UAS 1d SR, W fhardl IR g AT  SMad 3R,
T Ot a7 o faer.

DIRECTIONS: In each of the questions, four groups of letters, words or numbers are given.

Find the odd one out.
.Uﬁc“ida%,)ij%éa\.\;\gkm\ & PN ‘u,-.\Ad\JM‘)f:U—\M

A S O S S

A.3425
A.3425
A.3425

B.5229
B.5229
B.5229

C.8064
C.8064
C.8064
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Answer:

20

Answer:

21

D.6057
D.6057
D.6057

A.3425
A.3425
A.3425

372 19 AT AUT AT TT - TN T
T <SRN 191 8.

GET IT ON
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g 1 ge ,guamn fae snforfawamr WR ue smeq,

Find three consecutive numbers such that twice the first, three times the second and four times the third

together make 191.

A.19, 20, 21
A.19, 20, 21
A.19, 20, 21

B.21, 22, 23
B.21, 22, 23
B.21, 22, 23

C.20, 21, 22
C.20, 21, 22
C.20, 21, 22

D.22, 23, 24
D.22, 23, 24
D.22, 23, 24

C.20, 21, 22
C.20, 21, 22
C.20, 21, 22

3AH  HIDol BRERT U 30T HiAed  3=ifded g0l 30T SR Tt Ard d91d. - Adrd-

Symptoms like worrying unnecessarily and being apprehensive constantly about the future and other

things can be seen

= Ul LS S Osm U5 ) Jualase Juslisn (e o b S i ) SleSle ok (S (lagdil 5y sk ssma
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A.GAD
A.GAD
A.GAD

B.ADHD
B.ADHD
B.ADHD

C.PTSD
C.PTSD
C.PTSD

D.OCD
D.OCD
D.OCD

Answer: A.GAD
A.GAD
A.GAD

22 e @rcifear  SRM HId PRI 3R TEI@ dhall ARAdT A | @ieil el yaiaite! U 3
a_ab__bc_a_cd_

DIRECTIONS: In each of the following letter series, same of the letters are missing which are given in
that order as one of the alternatives below it.

a_ab__bc_a_cd_
=SS e L) S Ja il (SO ST ead8 s (S8 e gm Gioa S dia

a_ab__bc_a_cd_

A.abcabc
A.abcabc
A.abcabc

B.bcadbe
B.bcadbe
B.bcadbe

C.bcabca
C.bcabca
C.bcabca

D.bacbac
D.bacbac
D.bacbac
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Answer: B.bcadbe
B.bcadbe
B.bcadbe

23

Answer:

Which of the answer figure 15 exactly the muror mmage of the given figure?

= — \_Fﬁ—-'.'.j"::»'.""':: :._-_-‘Jhohg‘._;_’:_a-ciﬁl_';‘_' '—-f.j"ﬂsrw-;"’;‘f:f

qET At

Main Figure
Al pols

A|

FeATHIS! qATAT HTFHeAT
Answer Figure
Al S e

A |8

A B

A
C

| [
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P. AT MEd G 3 Cd aqR ®IF - SAUTel  SiagM aret  faedt .
Q. e el fHesfam @R Rig SerRel ISt ARG 3Nf0r Sruimg! Weh eTdhd!.
R TMed MUTHIT  gard 1 THISiara o MYl S

S. I RIGRIR DT 3R QIS0 Medrel Bhagd UHI Id - TSl

T. ST O, T AT @A elbll 308 ared Rig 31Sar I,

TR HH TR W] HIod al - urEd SR-d?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The cunning fox promises the lion that he can have the ass for dinner, but asks that his life be
spared.

Q. As soon as the ass was secured, the lion jumps at the fox, killing it for its meat and ends up having
both.

R. Two partners, the ass and the fox, go to a forest to find food.

S. So, together the lion and the fox trick the ass and make him fall into a pit.

T. On their way to the forest, they meet a lion who wishes to eat both.

Which of the following should be the FIFTH sentence after rearrangement?

ostex b o) 1y (P (Q)e (R)6 (S) sl (T) ushh s =8 8 a ey ¢ i i o Jlgs ) Sl | m e by S
s S

P o285 ol 05 IS € sad 55 (SUSsaey u b S5 s5al (a1,

Q. b3 e S i ) ke ) S b & _illiia oy s5asl ondicle S jad il o,
R. =8 Al S 533 UleS ae Kin e 3as) Dsl s a0,

S. LSl A8 S Sl )5l (S dla (S Sld S as Sl ST ol el 5
T. &5 Ly UleS 6 5390 () o Dha Ll Q) 5800 ey ila s,

¢ s Ligrogailialon L ()5S amy S5y G jio g0

AQ
A.Q
AQ

B.S
B.S
B.S

C.R
C.R
C.R

D.T
D.T
D.T
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Answer:

26

AQ
AQ
A.Q

GET IT ON
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Bicial  Ueh] AIUNIGS Sic gRadd, U1 U, “an  Yard dSId AN SHTSiiaidl Tgpadl GerT 3iTg”.

T T wEd quNEd B A 3HR?

Pointing to a man in a photograph, a woman said, “His brother’s father is the only son of my

grandfather.” How is the woman related to the man in the photograph?

‘;Aﬂu_a_aﬁjmﬂs&)ﬁ"_dlﬁyh\j\S\J\A/_ﬂ%ﬂgSé@C&u\"sL?SC'nLUJc sé)SaJLi\sJ)LésAjuyﬁyA
?L@"/J\ﬁ)\éscu

A.3MTS
A.Mother
A.o

B.dIh
B.Aunt

Bl

C.S gl
C.Sister
C.ow

D. et

D.Daughter
D. A

C.SgI
C.Sister
C.or

el FgdRed Tgor fadr gkw smga?
How manv squares are there in the given fizure?

DRg J'as._::s

I o e R

it daet A dadiee
T L LR
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Answer:

28

Answer:

Saren ae RISt e B -

ATER
BT &

C.Ial

D.fafe

IS Ul U]

The social clock refers to

= Ioe o 368 Al

ATERT  fha U $Ed ®ET - desd faHETR

A.An individual or society’s distribution work and leisure time
Ay ol 5l S 1S aansi alaws Ly (o0l _jil S

BIGUUN  S&I&Grl
B.Adulthood responsibilities
B.obls ~ed (S e b

C.HRPIG GO B0, A HRO TIOT 3R Yeid STeiaio! 3dd ad

C.Typical ages for starting a career marrying and so on
C.me dual (Szob ol o) DS eald S Sg s Ju S

DENRECHEIL RHEI]

D.None of the above
Do &S o Va0

C.HRBIC o B0, T B0 10T 3= YEId STaiardl ax1fads oo

C.Typical ages for starting a career marrying and so on
Coxedal Szob o oyl S Seld 8¢ 958 5 S
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29 SRS U1 39 3 UUIAG AT A8 S¥d 10T & (Acfi= 3qapta guT f=iR U1 391 3ig R
ard 39 B0 2

If Seshan is taller than Ammu but shorter than Raju and Ammu is just as tall as Nitin but taller than
Kishore, then who is the tallest?

€ 2 OS Ll s g el 58S Be Ll s (i el sl o Uisen e sa )y B 2 lesad s gee (Ll R

A.(a) I
A.Seshan
A G

B.(b) fhaIR
B.Kishore
B.. S

C.(c) 3
C.Ammu
C.sc

D.(d) X1
D.Raju

D.g s

Answer: D.(d) X[
D.Raju
D.g s
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P. AT MEd & 3 Cd aqR ®IF  3AUTel  SiagM aret et o,
Q. MedTR el fHefam @R Rig Seret ISt ARG 3Nf0r Sruimg! Weh eTdhdl.
R.TMed MUTHT  gard 1 TPl Siara o Myl S

S. I RIGRIR DT 3R QIS0 MedTel Bhagd UHI Id - TSl

T. ST O, T AT @B elbll 308 ared Rig 3TSar ddl.

URIAT $H R WIeadd! dIod al - gar 3Rd?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The cunning fox promises the lion that he can have the ass for dinner, but asks that his life be
spared.

Q. As soon as the ass was secured, the lion jumps at the fox, killing it for its meat and ends up having
both.

R. Two partners, the ass and the fox, go to a forest to find food.

S. So, together the lion and the fox trick the ass and make him fall into a pit.

T. On their way to the forest, they meet a lion who wishes to eat both.

Which of the following should be the SECOND sentence after rearrangement?

ostex b o) @bl (P)e (Q)¢ (R)6 (S) sl (T) sl s =8 8 o ey ¢ i i o Jlgs A1 Sl | m e by S
el S

P o235 ol 05 IS € a3 55 (SUSsiey u b S5 s5al (a1,

Q. b3 e S i ) ke ) S S & _illiia oy s5asl pdicle S jad il o,
R. =8 A S 533 UleS e Kan e s3as) Dsl s Qg 50,

S. LSyl A8 S S sl (S dla (S Sld S ad She ST ol el 65
T. L8 Ly UleS oS 5390 () o Dha L Q) 5830 ey s s,

S ulaUglpugalaa i g€ o S S yis b

AT
AT
AT

B.R
B.R
B.R

Cc.Q
C.Q
Cc.Q

D.P
D.P
D.P
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Answer:. AT
AT
AT
31 6 aIo 40 e ITeh 3, ROl BN &R B DI 3HA?

What is the angle between the hands of the clock, when it shows 40 minutes past 67

6 S Sl Mgyl S IS S 63568 S un ) w2 G40 S

A.40°
A.40°
A.40°

B.70°
B.70°
B.70°

C.80°
C.80°
C.80°

D.90°
D.90°
D.90°

Answer: A.40°
A.40°
A.40°

32 o faeear gy Aot qof ot ae st feEs
DIRECTIONS: Complete the series by choosing night figure from the given choices.
— S feSe al b S8 cutie S gaud moks o e UGS Jaaslig

Problem Figures

?
s T L
1 2 3 4
Answer Figures
o= — - -0

— =0 &— | o0— 00— | o= o= —0 | 0—0—0—
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Answer; B. (B)

33 DI RRIfSE BIS 3l
Where does the vertex of an angle lie:

= 3 S 2gee 1S )3 S

A 3faHFTd
A.In the interior
Ao Jal

B.&THITT
B.In its exterior
B.oxzoa

C.HHIR
C.On the angle

C.orms

D gt Hivrde! et

D.none of these
D.o 28

Answer: C.HHR
C.On the angle
C.or sl

34

A. 72

B. 22

C.12

D. 32
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Answer: D. 32

35 I Wl e faums (A) Sfor HRur (R) It Wreld Ut @ vty fRge:

fAuM (A): @1 §leT  dUaH | Hed Shd AR HlgH clbld  Had gid.
HRUT (R): AU HIod] STeel IPiad gid M dled G Ad gid.

DIRECTION: For the Assertion (A) and Reason (R) given below, choose the correct alternative from the
following:

Assertion (A): Heating glass bottles helps in removing metal screw tops which are stuck.
Reason (R): On heating glass bottle shrinks which helps in removing the cork.

Ol 8 8y i iy (A) sl (R) GiS e Jaliie gusia o (ae did aaaie o ) S aa g

Gl (A): - = ke 22 e S S a5 ) S e S 58l S clay e 5 Sa 8 S sl (S @ilS
~as (R): = sile 23 (e S0 S (SIS a0 (S5 i s 80 K S dig S @S

AG  (A)SMOT(R)T  3MTed 30N (R) (A) T AT TR0l 318
A.Both (A) and (R) are true and (R) is the correct explanation of (A)
A, (A) o3 (R) s) o e 05350 (R) (A) = Calbias s o (S

Ball (A) 30T (R) TR 3Ted, W (R) (A) I AT THxuT A8t
B.Both (A) and (R) are true, but (R) is not the correct explanation of (A)
B. (A) Ls (R) o5 o pusaa 0550 (R) (A) = o Sslia g a3 (S

C.(A) ¥ 3fg, WY (R) TS 3Me
C.(A) is true, but (R) is false
C. (A) & = maa (R) m Bl

D.(A) G 3flg, WG (R) T 3fTe
D.(A) is false, but (R) is true
D. (A) 5 (= e (R) = e

Answer: C.(A)¥ 3iTg, g (R) QI 38
C.(A) is true, but (R) is false

C.(A) SN« = = (R) o ke

36 fed dog Jeraa qIAE 3T

The Hill palace Museum is in the state of -
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A.IIERTA
A.Maharashtra
Al

B. &l

B.Karnataka
B.AS36 <

CIRD
C.Kerala
C. A<

PRIECACARHIE]

D.None of these
D.oy @55 = el

C.Is
C.Kerala
C. Als

IGRIGE
X ST WHR 3MAH YhdId 3MTe.

Hral HI:
|. TRPR Dlch] HIGR & bl
I|. IRPRSH <RI & hd.

Statement:

Government of country X is in financial crisis.
Course of actions:

|. Government can legalise cocaine.

Il. Government can abolish income tax

ol

o

X o 518 ol e CaasSa (S Sl

Jac ~a3Y:
|- i Ly (508 S (S 5S Caa S
[ o B S S8 (S8 oS0 e S

AT |38 3
A.Only | follows

A Cipa | K 5 Y
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38 JATHE (A1 3% <)

BW Il 38R0 Hd 33
B.Only Il follows

B. Gyall & 5 &Y

C.USR | fobal Il 3gH4 318
C.Either | or Il follows
C.lLl & 5 &Y S e

D.| fiar 11 ST " HIEte! SIIERUN HRd g

D.Neither | nor Il follows
Dol os -8 5 KY oo SS — e

D.1 faT 11 S "o BIelel SR HRd TG
D.Neither | nor Il follows
Dol osh -8 5 KY oo 58 e

JHRT b 7[urd qiRf TS0 31

Halo effect is

not available

O 2 b S a0 Sla bade ml e O Glle OF 8 S GansA il ¢3S bale S Gaa o

- 0 by Sl slae

Ad_dl
A.Tendency
A i) )

B.HdI

B.Ability

B.dld

c.aag
C.Habit
C.cale

D.U & Hleld Tel

D.Not sure

Answer: Ad_ at
A.Tendency
Ag“”ﬁ)unﬂ‘“)

GET IT ON
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YHRI A6 N dell a1 J[ed Alfgdl U ¢ TG 31 a1 SR

to link positive qualities with other positive qualities about which information is

Sl ESal
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40

GET IT ON
Google Play

YR IR 9T 85 HIeR 3R H1Ud, §71 Sldidhs deg1 15 HY. Arelid el q g1 STdidhs dosel! 3107 60 .

el R fod die srar a1 faRiar 3mg?

Bharti travelled a distance of 85 m towards North, then turned to left and walked for 15 m. She turned

left again and walked 60 m. In which direction is she facing now?

S o s 5 B0 sl 50 ol ez oyl e 15 o) (530 0b e S b Alald IS Jie 85 Cajh (S Jled 2 ke

(.'gau;m&mwastj

AT gd
A.South-East
A.G e sia

B.gfor
B.South
B. ¢

c.afor gy
C.South-West
C.cre-sin

DU
D.West
D.wx

B.Gf0r
B.South
B. w5

GTAIAUP! BTG 3 ol e b ITE0T 32?2

Which of the following is an example of igneous rock?

€ 2 b (S el ol S e dd 0

ASE

A.Basalt
A. Sy

B.g@a!

B.Limestone
B.Us

Cc&e

C.Slate
C. culs
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Answer:

D. AR
D.Marble
D. di

ASET

A.Basalt
A, Gl

feen  ufaite! aves o Fas:

Select the odd one out from the given options:

oS edie € S o wope il K

AgY
AMILk
A2

B.Gal
B.CURD
B..2

C.aoh
C.BUTTER
C.oe%

D58
D.BREAD
Dy

DSS
D.BREAD
D.L
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P. AT MEd G 3 qd IR ®IF  SAUTal  SiagM aret  faedt o,
Q. MeaTeR el fHefam @R Rig Serel ISt ARG 3Nf0r Sruimg! Weh eTdhd!.
R.TMed MUTHIT  gard 1 TPl Siara of MYl S
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URIAT $H TR Wi s ar o sRid?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The cunning fox promises the lion that he can have the ass for dinner, but asks that his life be
spared.

Q. As soon as the ass was secured, the lion jumps at the fox, killing it for its meat and ends up having
both.

R. Two partners, the ass and the fox, go to a forest to find food.

S. So, together the lion and the fox trick the ass and make him fall into a pit.

T. On their way to the forest, they meet a lion who wishes to eat both.

Which of the following should be the THIRD sentence after rearrangement?

ostex b o) 1l (P (Q)¢ (R)6 (S) sl (T) ushh s =8 208 o ey ¢ i i o Jlgs ) Sl | m e by S
e els S

P o235 ol 05 IS € 33 55 (SUSsaey u b S5 s5asl (a1,

Q. b3 e S i ) ke ) S S & _alliia oy s5asl edicle S jad il o,
R. =8 A S 533 UlS e Kan e s3as) Dgl s g 50,

S. LSl a8 S8 S )5l (S dla (S Sld S ad Sl ST ol el 5
T. &5 Ly UleS oS 5390 () o Dha L Q) 5830 ey s s,

f e b uddlea e OS2 S jio g

A.P
AP
AP

B.Q
B.Q
B.Q

C.R
C.R
C.R

D.S
D.S
D.S
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Answer: A.P
A.P
A.P
43 WAAUD! G - HIOTT 2
ANSTTHIA
B.STHTH
C.SITHA
D.SISIdHATT
Answer: A NSTTHIA

44 e Wl aur  wreseiyde arar sfor @t fear 1 RS T .

4K%RT3EP#A7BO9DIQ@28VUOHJIS5F1%6MW

Ay ¥ Tl gaartet S9d w141 USHN ISl SIS 7 U7 gedH B0l 2

DIRECTIONS: Study the following arrangement carefully and answer the questions given below.
4K%RT3EP#A7BO9DIQ@28VUOHJ5F1%6MW

Which of the following is the seventh to the right of the fourteenth form the right end in the above
arrangement?

i Ol e sl a5 S (S o culy
4AK%RT3EP#A7B9DIQ@28VUOHJI5F1%6MW

?5’ LS Caa sl /_—“"G—.'.L;‘ Pl e é A S C“"G—.‘.L" et é [ BX 6)3\

A7
A7
A7

B.5
B.5
B.5
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Answer:

46

CJ
c.J
cC.J

D.F
D.F
D.F

B.5
B.5
B.5

3T ST UgH 9 7 IR I I,
Alexander Graham Bell suffered from

§ e g yma e s e g ben S dan aal R 35 K0

A &UTfoR®
A.Bulimia
A S il

B.fefar
B.Anxiety

C.3fuefe guaT

C.Drug abuse
C. lerind € ciliiia

D.dTe SHHdT
D.Dyslexia
DS e il (S a5y

D.dTd- HHAT
D.Dyslexia
D.oS e ) (S a3

GET IT ON
Google Play

16x12-672+21=7?-211

16x12-672+21=7?-211

16x12-672+21="7-211
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A.381
A.381
A.381

B.347
B.347
B.347

C.372
C.372
C.372

D T HIvidg! TR,

D.None of these.
D.us &S =m0 O

Answer: D.ZH'W aﬁmﬁ%ﬁ T-H@

D.None of these.
D.ud P58 e 0
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47 g b AT UD H_ W fayHred IR fauM sigd ai araredl A, B, C 311f07 D 31 IR a4 3ied.
aaR  faymi SISt fasT am dug faue guan faummen gaad, i gl g faym afes 1 0 @
faemread fAfed s

wEelt  UedR YA uraH wRid Aet fdhar Aad uTed HIid ATgl
A. TEET g UTe B el

B.waErdlt  yw\ U #Rd 3.

C.TEKIT  HAMadd Urad Heid el

D. T@relt AHadd gTe- B

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

One either does not follow religion or does not follow humanity
A.One does not follow religion

B.One follows religion

C.One does not follow humanity

D.One follows humanity

stia S Usdss Sluia el g R Sy bl S (63 ) e co ) lea e dm Sin o ales Sl e Jlg p uly
op Githe S b S e Bhie lea 50 Hl by S el gl (S alea o pugd Alea Sy (L

oS bl L 1S G i S e 5Ly (i S
ALS G 5l S (e padd (S

B S Sl S Cude (it S

CUS s 5lls oS Caglasl i 35

Dt B8 Sl S sl (i 5 S

A.AD
A.AD
A.AD

B.DB
B.DB
B.DB

C.AB
C.AB
C.AB

D.BC
D.BC
D.BC

Answer: D.BC
D.BC
D.BC
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48

Answer:

49

GET IT ON

Google Play

I Tele FIATG 3 3 T Hed saral TETdie aierse Haer 37g. T Hae Sosedr Jai
goffdaar Hg, Yold® ade odil HHR gl AW odl, U Oeed A= ited sed. 3T
A @reaT HamiT Wlele e eal SISaT ol

DIRECTION: The question below has three items having certain relationship among them. The same
relationship is expressed by sets of circles, each circle representing one item iirespective ofits size. Match
the items with nght set of circles.

e bl LSl B0 ey e S e S S s o SRS e e 2 e ] G e Sl S e sl
0 ot S g o3 S 13 5 T oy U8 5 o 1 05 S 3L 300

© Tk

(c) (D)
oY, 0N, STET

Pop, Songs, Classical
L)

A. (C)

B. (E)

IO HIUKT 3Nl 8T 9, 1§ _Terex |, Uiferm  =idd?

Which figure represents Rhombus, Quadrilaterals, Polygons?

05 3 ¢ ks 53 S (a5 ) i saal oani oS
§ o K Sala S

(A)

(C) %
o [®
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Answer:

51

(A)

TAEN X AT Ao dRaFT faaRa ol 7Rl g1 U

The important point to be considered for organising an exhibition is:

A W e e ad Al S 58 G san IS Jiilad S

ATTHITH® THR IId A 3T gd
A.lt should be focused on a centralised theme
A s S S e g siage 6OS e s S ol

BAfam T wad- SIS Pl el gt

B.It should be organised with the help of the students
B. =il Ula LS alaie ) w2 (Sl

C.3mmH Fasm Mo  d FEfid S U

C.It should be implemented according to advance planning
C.la LS MLl Bldas S (53 o gaaie (S ) iy

D.a3d Id
D.All the above
D.alsi 5y sShe

D.a3d Id
D.All the above
D.okai oy 5S3e

geid YdTdia Ul SRERT dler:
5,15, 70

Find the average of the scores in the following set:
5,15,70

Ko dan gl IS Sl s
5,15,70

A.39
A.39
A.39

GET IT ON
Google Play
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B.30
B.30
B.30

C.22
C.22
C.22

D.60
D.60
D.60

Answer: B.30
B.30
B.30

52 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,
choose the one which can be substituted for the given phrasal Verb.
She broke down in the middle of her speech.

A.slept
B.sat down
C.stood silent

D.burst into tears

Answer: D.burst into tears

53 Ripfam - felte g~ e Ul —
The contribution of Television in teaching is—

= e e aalad 1S (055 S

ASMfa=a 3
A.Very high
Ay G

B.THT
B.Ordinary
B.ale
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Cc3
C.High
C.osle!

D.RA
D.Zero

D. aa

Answer: A AR 3
A.Very high
Aedn) G

54 AN 1 SRHH I, WIAade! HI0d SIae Aidbd ad 7@ HRUT ATg1?

In the past decade, which of the following has NOT been a major cause of the increase in the world’s
population?

€ 2 O s 5 S (S il e 3l (S 058 s (e b s die e Sl A35 R

A.Ed Shae Brarash

A.Longer life span
Al 518 (Bai) dysha

B.31® TR HH vl

B.Lower infant mortality
B.oS e Slsal (S s

C.HURd dIl
C.Improved sanitation
C.lba jip

D.1U! Tehg! ATgl

D.None of these
D.o ot S = 00 O

Answer: D.gTuh! Qﬁ :n'e?r

D.None of these
D.o s S U O
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55 TH U@ GURY 12 GEdid 8. /@1 e ®e1 3= ®e % &id 318, 1.30 Ao [l a Hiel
Hon R fAdw Har

A clock is placed at 12 noon its minute hand points towards North East. In which direction does its hour
hand point at 1.30pm?

Sl Sald gio U8 s il cula (S b Jd BIS 1S e S Gl gl o WS 50 20 12 S jae S 58 S
S 51 e Caans S IS 1S Ll 5 chie 30

AR
A.North
Al

B.Od

B.East
B.3 5w

c.aftr
C.South
C.osis

DI
D.West
D.wx

Answer: B.qu‘
B.East
B.3%e

56 99 Udid 3ORY U IT I HHRIYSD T8 Tsd
Immature leaf of plants fall down due to deficiency of

e R s S S S e S RGN (S o

Ad T
A.Sulphur
A il

B.i5i®
B.Zinc
B. <)

C.%l By
C.Phosphorus
C. sl
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Answer:

58

D.ifsaHq
D.Sodium
D. S s

B.lRiw
B.Zinc
B. )

3ad Fidd e g A T A<l °eR AT SgYdT °dl aral gordTd

GET IT ON
Google Play

Recurrent anxiety attacks in which the person experiences intense terror is termed as

S LS o o US Gusne G LA o gl) (e e e 585 ) sl

A S AR

A.Panic disorder

A e Cafs

B. I et
B.Social Phobia
B.—ass alew

C.gu ot it
C.Angrophobia

Clust s Su) A K at)

D.aT0e! Thg! gl

D.None of these
D.ox 28 w0 O

A S AR

A.Panic disorder

A~ e Cafs

Geiad®! Sion - T Jgrddl RiefaraR — fed-wifos wa gsdr?
Which one of the following aids has the long-lasting impact on teaching?

€ = LS A alaaal) iy Gt 05 o (e SR i3 an i

AST ff & USSMaE dledl UTfan 1y dHeN™ R &l

A.When you will yourself draw a diagram and also motivate the students to draw them

A5 S H A an Seldla A S by )yl K Gl ol S8 Sl 2a s
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Answer:

60

BOT O TSRIWIaR WIS YW 3Nl BIgH AT

B.When you will bring a beautiful figure drawn on a roll-up Board
B. S o S s JSd s d S il Jgy s

Col I ARG g dlal A&fd 3Meg ST A0 d Ripard TeRar o 7 aRTd

C.When you fetch some related diagram from the lab and use it as a teaching aid
C.op S8 Jenial y ysb ST Kaad il )5l gy 58 deala ol K15 Al (58w (5 55kl ol

DAT @ fam M1 T T oAl oMo HIgH MU T
D.When you will inform the students to draw the diagram from their home in advance
D.osls ol SuidSim (s je8 o5 a8 8 S ol S Gsale e o

AST & @ USSMoadpled sMorfan g A PN IRd HRdl

A.When you will yourself draw a diagram and also motivate the students to draw them
A5 RS G Aags (Selth A S by il ) K Gl o) KI5 Sl 255 o s

Hdle T -
Communication is a—
S o hal s

Ald onforeumaraen far 3nme

A.Process—which is going on between the Source and the Receiver
A 5ol ey S Jgay Hl Al sa—dae

BHHAl d3lGM-aM HIEl U 3T 38
B.A condition of exchange of ideas
B. clla Gl (S 5 8 Aol K ayla

cHiRITE WU THUI 3R

C.A method of transfer of information’s
C. ik S 1S e (S e slae

D.ad 9d
D.All of the above
D. e Yh aa yaia

D.ad 9d
D.All of the above
D. e YU as yoia

JUUER AT GHMIRS T HI0TAT ?

A1dql
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B.gaTd
CcXdc
D.I8R &0l
Answer: C.Rgc
61 THIIO T 35T 60% 7 36 3 <9l 3e:

If 60% of 3/5 of a number is 36, then the number is:

Lyl yuwic 5 536 < 60% S 3/5 S i (oS S

A.80
A.80
A.80

B.100
B.100
B.100

C.75
C.75
C.75

D.90
D.90
D.90

Answer: B.100
B.100
B.100

62 fyzr: mferent guf &,
TRP, NLJ, HFD, ?.
DIRECTION: Complete the series
TRP, NLJ, HFD, ?.
58 daSa S 7w ol il

TRP, NLJ, HFD, ?.
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63

o wrflduy fadr =M "R 3MURd 3Mgq.

show/ slot/ down/ ride

A.AZX
A.AZX
A.AZX

B.CJX
B.CJX
B.CJX

C.BzZX
C.BZX
C.BZX

D.ZWU
D.ZWU
D.ZWU

C.BZX
C.BzZX
C.BZX

GET IT ON
Google Play

‘down” TG fhrizmr  Siet® - faded auf sied fSrde et guf Aradia 3med?

DIRECTIONS: Following question is based on the given words.

show/ slot/ down/ ride

In the word ‘down’ how many pairs of words have as many letter as in English alphabet?

o Jaitda ppigadl o 20 Jlse S i ol
show/ slot/ down/ ride

op s S S aad Gia o K31 (e il ‘down’

AUTDH
A.One
A

B.aH
B.Two
B. s

cdH
C.Three
C.os
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DU Thg! ATat

D.None of these
D.ow S

Answer: D.uﬁﬁuao—gﬂ :ﬂ'eﬁ

D.None of these
D.ow S

64 E fauaq fary @foan oy te iR g@ wrar i@t o gl o fobd dait oife, AR TH
WRdd U AgEA AR P ¥

A gifted student commits a serious mistake in Maths paper and you have marked out the error, then
being an invigilator what will be your reaction?

Aiae Cafng e ¢ S il (S Gl Sl ) oS Qs S Jle JLEW @\wo@\é@a\w#q&iﬁs@\
?@ﬁd&;a‘)g&\s%ﬂ

AfIm @1 Y SEqH <3 B! BIgd cIB U

A.Tell the student to remove the error through indication
A.cdle S e 1S il aeg ) So il S ale il

B.gHI®GS A HIviel faftn  facht SomR A

B.No response will be given by you
B.. =S bS L daeay (S8

CT  IUfh WIG IRAAIT@ 1§ IA0

C.Tell him while putting signature on his answer book
Coosly iy S hadtus 5y (S (s (S O

D . HIYRUT Hbd SO,

D.Giving general hint to the class.
D.L'u..a b)l.:;!‘ ral.c )S u.n)ns

Answer: B.gHI®s _A®Ivkel fafr  faed SomR At

B.No response will be given by you
B.S S we daed)y SS

65 A sentence with an underlined idiomatic expression is given. What is the meaning of the idiomatic
expression ‘put one's shoulder to the wheel’ in the sentence given below?
| know that the new deadline is tight, but if everyone puts their shoulders to the wheel , | know we can
get it done in time!

A.To work very hard and diligently.

B.To assign the work to others and relax
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Answer:

66

Answer:

67

C.To get the work done from outside

D.None of the above

A.To work very hard and diligently.

A EdaT g fqdr gaamyE et er /1 AT fas.

7:32::8:7

GET IT ON
Google Play

DIRECTIONS: In the following question, select the related letter/word/number from the given

alternatives.
7:32::8:7

7:32::8:7

A.48
A48
A.48

B.30
B.30
B.30

C.35
C.35
C.35

D.37
D.37
D.37

D.37
D.37
D.37

.000001 © g9 fobell 3c?
What will be the cubic root of .0000017?

0.000001 &5 LS iy 5 cuaSa 1S
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Answer:

A.0.1
A.0.1
A.0.1

B.0.01
B.0.01
B.0.01

C.0.316
C.0.316
C.0.316

D.3.1E-2
D.3.1E-2
D.3.1E-2

B.0.01
B.0.01
B.0.01

TSRS (Airbnb)dl FHI HR 1Y -

The Indian equivalent to Airbnb is -

& & 29 (AIRBNB) = b il IS

c

AUdlc

A.Flipkart
A.SS il

B.HIT
B.Myntra
B. e

C. 3
C.Oyo
C.5d

D. 3{Tel
D.Ola
D. Y

C.3ma
C.Oyo
C.5s

GET IT ON
Google Play
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Answer:

70

4x4T2T GHHEM  1/5H ST A fadl! dihiA THIG BT Adia?
How many squares of side 1/5 m can be induced in a square of 4 x 4 m2?

¢ o Sl LS Jaldi e Sl 30 4 X 4 SO S 51 1/5 il (S sm e IS

gD = STmea Jafd @er 3w 3Me
The largest country in the world by population is -

d&n\jﬁ:&gu\&@dcuc._\mcscgag:

ATTHY
A.USA

Ao ol s

B.HIRd
B.India
B.< e

cdaH

C.China
C.uk

D IR
D.Russia
D.osy

cdH

C.China
C. uk

A.400
A.400
A.400

B.40
B.40
B.40

C.80
C.80
C.80

D.320
D.320
D.320

GET IT ON
Google Play
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Answer:

A.400
A.400
A.400

BT dv@d X eRd

would be an evolved trait

éﬁ&#}@&b&ﬁ)\dﬁ\

AsffaEmdt g

A.Tendency to overeat
Adaa) 8 eSaaly)

Beam ad faue

B.Quick response to danger
B.s s o shad

C.3HU (3 TM)
C.Aggression
C.am s

D. Ut Id
D.All of the above
D.e¥h 7z 0

D. Ut 9d
D.All of the above
D.e¥L 7z 0

GET IT ON
Google Play
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72 o b A IS H_ T fayHred IR fauM sigd ai araredl A, B, C 311f0T D 31 IR a4 3ied.
aaR  faymi S fasT am dug faue guan faummen gaad, T gl g faym afes 1 0 @
faerread fAfed s

Rra I THR TUE R e IRefaR SMURd ST
A @} TuE @R enuRd SR,
B.RIG } U@ R MYURT &Y.
c.fora R TRl snuRa 3R
D.RR@ I TROIR MYRA el

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

The scholarship is based on either merit or need
A.The scholarship is based on merit

B.The scholarship is not based on merit

C.The scholarship is based on need

D.The scholarship is not based on need

in S s Ses Sluie paand g R Sl S (63 ) ue o) e s an Sea o ales SOl G Vs syl
op Githe S ol S e Ahie laa 53 Hl by Se bl gl (S Alea £ g Alea Sy (L

2 (S a b oG e bl IS
A e g 3 (S S i ISl

Biile e g by (S & e IS

C= ile Ly by (S g il ISl .

Disile U 3y (oS G5 pea i IS

A.AD
A.AD
A.AD

B.DB
B.DB
B.DB

C.AC
C.AC
C.AC

D.BC
D.BC
D.BC

Answer: D.BC
D.BC
D.BC
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73 Wit HIvrh T HR-A "ot o falkmm A
Which one of the following is not the main characteristic of Task-analysis?

S0 S Um0 e OS  Use Gia et il (S a0 Sl

Afamr  [avfgenfort R R war

A.The description of the students and their learning abilities
Acalay S gsindia (S JgSau (SO sl slilb

B3d ddued i@l

B.ldentification of desirable behaviours
B.oalil S Gl i asllae

CIRl 3 SHfharuct sfewui™ @fan  Hgi13d aduddl U1 dHall oS Jbd

C.ldentification of stimuli or situations by which one can expect student desirable behaviour
C.obsu Sads Sdee jobamsthe Sale il A€ 2,0 S Gua calid (S Vs S Aass

D.Riefar © 3" sl
D.ldentification of teaching objectives
D.caalid S salia S 53

Answer: D.RBfAE 3w M@

D.ldentification of teaching objectives
D.caalid S salia S (53

74 G| Faid A6l 3qulid Qe
Find the largest among the following fraction

GBS O € Foen o 030 ) 3eS i) s y0ia
S OO el (650w a — 3e S Jid s 2

A.27/10
A.27/10
A.27/10

B.34/13
B.34/13
B.34/13

C.34/15
C.34/15
C.34/15
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Answer:

75

D.28/13
D.28/13
D.28/13

A.27/10
A.27/10
A.27/10

ol WA JASH Td G fae™ | 31707 11 faiet 31ed. B8 AU UhaR 0 ' F RO 3 Xevard fhard
HRUI TRUMH 3R IHdTd. Ji0e! Tah fAUH IR fAuMTEr tRomd 3Ry Tdbdl. gt faeum arar ofor
Triiade! SN RET W ArEn  fauEedia deyi auH Sl d 81,

ICEIGE
| 3191, YR MO Tifeer1 - O -t il Jdy JURNmS!  urad S9ad | sR1dd 317G
I gélet 3maard R AT Aifcl oftt URA g ufba T R SHIYDBRT SUHTde Yoy YRS

3TURA! HTa! UTad Il

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:

I. Today, the Prime Ministers of India and Pakistan have decided to take steps to improve the bilateral
relations.

Il. Next week a Committee of Foreign Ministers and Senior Officers of India and Pakistan will work out
further steps to improve the relationship.

Sl 53 e s 5 2 1l | D8 11T 5 il G 8 00 -0 S s DI S g 151 e b sy 315
O A S a8y 2 S (S Alad gl a5y lily (sisn o USu s0 818 2 s 93 Ol Sl i e L
= U8 ol e Sl S Gl le 0 S Glily gsisn

Glil:
| — oo LS Almd 1S claldl ) S iy i oS clilad byl 50 5 S 2l S LSl sl o]
IS S b oy Slaldl a e ) S Sl (5 i laled (S (S 5 pedl Siian ) ) fuie gl S US5GBSk K.

Al BTTRUMY 38 OIS/ a0 4 g BRI 3Tg;
A.l is effect and Il is its immediate and principal cause;
A Sl | s Ol sl = S e = s bl ) 58 (S )

B.Igdlles 30T H_ WG HRUT 3Tg MM TN WRUMH 318
B.l is the immediate and principal cause and Il its effect;
B.owi Gl | e Ol ol =~y b ol B - = S5V S G
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CIBTIRUM AR WIS  dlles AT W HRUT AT
C.lis an effect but Il is not its immediate and principal cause;
C.mad Ol | sl Ol 083 = A - = i s s ) 58 (S ol

DNBTIRUM AR IRTE  ana 30T @ HROT TG
D.Ilis an effect but | is not its immediate and principal cause;
D. i Ok 1l e Gl S = 3V | o= 0 A 2l ) 58 (S )

Answer: B.Ig A& 30T H_W HRUT 3Tg MO I GTT  TRUMH 3T
B.l is the immediate and principal cause and Il its effect;
B.owd Gl | e Ol ol = g i ol B - = S5 S Gl

76 oy S S g T od 3R
‘Jatra’ in West Bengal is a form of -

= ond SN e S8 (e

Afd <
A.Cricket
A8 ES £

B.AT
B.Theatre
B..S e

c R
C.Education

C.S il

D.gid
D.Music
D.S i e

Answer: B.AT
B.Theatre
B_é l:sw -

77 AedRR AUt ufgel URaT 2

Who was the first Indian to win the Nobel Prize?

LS daala aladl i 3 s Sl g
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Google Play
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AXGHTY THIR
A.Rabindranath Tagore

AL S gl

BHEN i
B.Mahatma Gandhi
B. 28 Wil

CxR dg fam@mR
C.Ishwar Chandra Vidyasagar
C. Rl Ly Hain sl

D dfew dg gcium
D.Bankim Chandra Chattopadhyay
D.csbiadly sia i oS

Answer: AT TR
A.Rabindranath Tagore

AL SE i

78 Out of the given options, choose the one which is the correct indirect speech of the sentence given
below.
Jenny said to the watchman, “Did you find the key anywhere?”

A.Jenny asks the watchman if he found the key anywhere
B.Jenny asks the watchman if he has found the key anywhere
C.Jenny asked the watchman if he have found the key anywhere

D.Jenny asked the watchman if he had found the key anywhere

Answer: D.Jenny asked the watchman if he had found the key anywhere

79 SR AfGET  odT feaRf IAART  3MMeaT IR Id 3|, R AfRET 11 fea=fht Sivrd ar s&a?

If 9" of the month falls on the day preceding Sunday, on what day will 15t of the month fall?

S5 el i S Ay 00 S 5o By iy e i &9 (S e R

A AR
A.Friday

AW TN
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B.RIMAR
B.Saturday
B. i

CXfdar
C.Sunday
CJ‘_,J\

D HIHaR
D.Monday
D.ox

Answer:  AY[AR
A.Friday

AW ETEN

80 RIGaadt TR U AdfdE I AIARGIE | GIEadd! HIod UH RIS g2

Which one of the following is correct statement in the use of real objects as teaching aids?

§ o O G d Sl L 08— pe i3 a3 (e 5 S Jlasind gy Hsl S 3 Kaad € oLd1 s

AT Sfdan  IUTHTE PROR AR S TS T8ES MY [hal JeaH & hdTd ok &1
A.You will not demonstrate live the living animals which can create nuisance or harm for the class viz.,
dog, monkey, cat etc.

Ay Jhaii b J 3 ) So g e ai BS ¢ sabs a0 sn 8 e S G o e L S (spila Ny iy eai3 b (S o

o S S,

Bl JAu I AT I G T HgSUUl ol oS Wdhd
B.You will demonstrate the plants which can be exhibited easily
B.ow s s (S o Al (il (S S S el € 535 O

cger 1 afa® g AP wmEweesasfar T e woien  ufties emRd iy
FMH TGO Bl oIS, bl

C.You will like to demonstrate those real objects which are beyond the experiential limits of the students
but can be demonstrated easily in the class

C.liS a LS o i 1S ) o (Sl (e GBI 08 (il w2 (b e (S eldl sa (g ila U S syl 1S oLl s o))
-

D.(B) 310 (C) RISk a1 3fTgd
D.(B) and (C) are correct statements
D.(C) 55 (B) La iy s

Answer: D.(B) 3701 (C) SRISR dT  3fTgd
D.(B) and (C) are correct statements
D.(C) 15! (B) s ik o 3
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81 TEn  gqg fdhal SHISTI3! Sivlde! gliHeR fdar fadferd aruian

Any harmful or disruptive behavior for a group or society is termed as:

= U Ly S s sl b ed (el (€ ) S o pilaa by R S

AT fagTdes arTudh
A.Antisocial behavior
A =50 s

B.fgq® arus
B.Violent behavior
B,\ﬁ}) <A

c.HaS  faRief anTos
C.Anti-psychological behavior
C. 50 lmdi (A4

.3l RIS

D.Abnormal behavior
D. 50 Hsare 22

Answer: A FHTS fdgTde aRTIH
A.Antisocial behavior
A =50 s

82

Rrem " IRUR Wedte! HIvd e YS! bR SId A6t?

Which one of the following role is not played by motivation in learning?

GET IT ON
Google Play

3 Td Wil

€ LS o 1ol S L 058 s (e 1S i) ma e b (S (18 abaagn (e S

A TG TAU@HIAT 3 S <ol
A.Arousing human behaviour
Al g s 4 S mg) Sl

B. AT I el UTGYRTAT 601

B.Persisting human behaviour
B. = U3 leS) (Bl S ms)y Sl

C. T4 adiu[e feda Saut

C.Sustaining human behaviour
C.LeS, A n S dae Sl
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Answer:

83

Answer:

84

D T4l IUE @G HIG0!

D.Detecting human behaviour
DL iy 1S 5y (s

D T4l IdU® SHIBGA HIG0!

D.Detecting human behaviour
DU Ay S ) (sl

Tafd 1 HHH s e —
The most powerful computer is—

= PSS sl

A gWR HI0Th
A.Super computer
A SsnaS

BgH UIH
B.Micro computer
B._fsueS 5 Sk

C.dg™ HUIh
C.Mini-computer
C. FsmeaS (e

D.ad 94
D.All of these
D.sgrm e O

A JUR HIT0Th
A.Super computer
A 5isnsS s

GET IT ON
Google Play

Fa: feerear T S0t ATl Y 3Mehciereler Aol quT oy dea medr 3mg?

DIRECTIONS: Which answer figure will complete the pattern in the question figure?

Suif g Jatant s aliss caiale® o lis g i o Jlgusells

¥

R,

@

o
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(&)

(B)
g
()

D)

Answer: 7

(B)

85 e aiar 1w (2) ST SIv 3feTS Hed arae ga?
1.37 x 12345="?

DIRECTIONS: What approximate value should come in the place of question mark (?) in the following
equations.

1.37 x 12345=7

& T g iaai L (058 g -8 (S (2) 015 1S Ul g e g i i 1y -
1.37 x 12345="

A.17000
A.17000
A.17000

B.15000
B.15000
B.15000

C.1500
C.1500
C.1500

D.14300
D.14300
D.14300
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Answer:

86

Answer:

87

Answer:

A.17000
A.17000
A.17000

243\ 4/5
! —
=
A.81/16
B. 16/81
C. 4/9
D. 9/4
B. 16/81
WU BTl ayd SHfUBR ATEr?
Which of the following is not a fundamental right?
$ = o B ol L (S s e d3 e
A AT fIBR

A.Right to equality
A G 8 Olgls

B.IUR " 3fYHR

B.Right to property
B. &~ 1S dadls

CId T 3MfgdR
C.Right to freedom
C.a& =S w3

D.TNyufaRIeh SifepR

D.Right against exploitation

B.UN " 3R

B.Right to property
B. 3~ 8 daila
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88

Answer:

89

14 INTQIA a1 ot a1 fasm e @ieliais! Jaid 78 ard S 38?2

GET IT ON
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Which of the following is most important for growth of children up to the age of 14?

o om e oo S S sl (S s S ST 14 LS e did a0

AZY
AMilk

A2

B.Sllag d

B.Vitamins
B.oeGs

C.aRa
C.Fats

C.cud

D.IEH
D.Proteins
D.os

D.IEH
D.Proteins
D.os s

P¥e RAT it WA gH ET e

13, 17, 26, 50, 100, 200, 390, 679

DIRECTIONS: Find the wrong term in the given number series:
13, 17, 26, 50, 100, 200, 390, 679

a9eS i hle ez e s R 22 cyly

13, 17, 26, 50, 100, 200, 390, 679

A.100
A.100
A.100

B.50
B.50
B.50
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Answer:

90

Answer:

91

C.200
C.200
C.200

D.390
D.390
D.390

C.200
C.200
C.200

foRT TORPTT HIUR WY ATge?
Who discovered sex hormones?

S 2 0S8 Gl (S s (i

AT
A.Hansen
Ay

B.guiH 9
B.Eugen Steinach
B.zufiul (8 5

C.USds
C.Edward Calvin
C.oaslS 3053

DAR &I
D.Walter Kohn
D.cnsS s

B.gui 9
B.Eugen Steinach
B.zudiul €

GET IT ON
Google Play

DIRECTIONS: A sentence with an underlined word is given below. Find the word which is opposite in

meaning to the underlined word from the given options.

Over 25 people drowned when a school bus tried to cross a river and flood waters swept through.

A.Drought

B.Overflow
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C.Downpour

D.Rains

Answer: A.Drought

92 @A EEar g fear gaiaiHyd deftd oR wig fas.
HCM : FAK:: SGD : ?
DIRECTIONS: In the following question, select the related group of letters from the given alternatives.
HCM : FAK:: SGD : ?
‘S e g S ABleie 1S Cagpa e Jilie B 0 (e g b an e 100

HCM : FAK :: SGD : ?

A.QEB
A.QEB
A.QEB

B.QIB
B.QIB
B.QIB

C.ESQ
C.ESQ
C.ESQ

D.GES
D.GES
D.GES

Answer: A.QEB
A.QEB
A.QEB
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93 rr&”rgannﬂ garr fdu ofg. 15 duHMR M AT AT ge  HIST 3. A1 3 U0l ad B
?

| am thrice older than my son. 15 years later | will be twice older than my son. What is our total age
now?

$ LS yee o ganasbe B gla 51580 By w15 .00 153 W3 Fu ) (e

A48 TY

A.48 years
A48 J

B.60 9

B.60 years
B.60 Jw

C.64 T

C.64 years
C.64 Jw

D.72 9%

D.72 years
D.72 Jw

Answer: B.60 %
B.60 years
B.60 Ju

94 U1 A Ficsfam UH , SRSYTer  fexar, XA a1, dreral qafdes!, dafdiar A, ARIe
fUge!, fUarer = et e A MRt s ed |, RATUNH  AFAIIET T S 3AA?

In a certain code language, if Violet is called as Green, Green is called as Red, Red is called as Brown,
Brown is called as Orange, Orange is called as Yellow, Yellow is called as Blue and Blue is called as
Indigo, then what is the colour of human blood in that language?

U S o s o UalS s S Y 2 UaLS JY S oy o UalS | S (B &) e ) S b (e saie SO
LS Ko, 8 gsa S gl pe gl ol 58 = BalS Ji 58 Lo ) o BalS Sl Sy ¢ o WalS Sy oS o )l ¢ UlalS
o

=

Add
A.Red
A.JY

B.Blue
B.3
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Answer:

95

Answer:

c.fewar
C.Green
C.lxn

D.dufs<t
D.Brown
D.)_ss&

D.dufs<t
D.Brown
D.lse

JE  THT AT TG @ Gag R, q ™ g 999 B0 gradra?

A child has nail-biting habit in the class. How could you improve his habit?

o 25 s i S S Sole (S Gl o dle (S s AL (e IS S o S

Al dWGTTd PHRU Al TETET HIHR TSR ATe!
A.You leave it because it is not a dangerous disease
A= U Golen SU kA Sl S eS 0 S )

BT dU@GRPRGR RO &7 @ = ddue Seamard &d

B.You attempt to mold his behavior under strict observation
B.uw S8 GES (S Al S ) S oo ad _Sealie ddn O

Cqt ™ TH " UHAM BRI
C.You insult him in the class.
Coo S5S pbi e 08 il .

Dl T  Uddies dR  &HRd
D.You make a complaint with his parent
D.ow =8 Culss —w gually S ol

BT daUHHPICHRRI & ¢ W TS Seadaid  Hd

B.You attempt to mold his behavior under strict observation
B.uw S8 Ui (S Ay S ) S el i _Sealie Gdn
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96 T : WTelid YA Id - G faum | ofor 1) faeid smed. 8 AU TheR d 3 SRUT oY Webard fbard 3
HRUMD WU 3R IHdTd. TiUD! U [ SR AU WU 3G Wehl. &t faem™ arar for
TeuD! B IR g AT el Ay Yeuie auie el d aan

faem

| fdaresr A1 g " 91 Eid 3R
Il TS HediH | dTe gid 3.

DIRECTIONS: Below in each question are given two statements | and Il. These statements may be
either independent causes or may be effects of independent causes. One of these statements may be
the effect of the other statement. Read both the statements and decide which of the following answer
choice correctly depicts the relationship between these two statements.

Statements:
I. The cases of sex outside marriage is increasing.
Il. The cases of AIDS are increasing.

Gl 5 e Dsmn L ai sl | s 11T 55 L il g € 0l 0 5 s i S a3 31 Jer b clligay 31
O S IS Qa8 8 a2 A8 (S alead gl a5y bl (sisn o S 5 31 1S £ s (lay Sl s (e iy
= B8 il e Sl S (3l e 5o S iy 5i g0

il
| — = b 5 Al (e S S o S gl
-z G 52 Al (e 2aai (S Guf S 530

AfIYUT | RO 3T ST AU 11 T=T - WRUMH  3(Tg;

A.Statement | is the cause and statement Il is its effect;
A g | xd Ol sl o sl -2 TS Gl

B.f3eT 1| HRUT 31g iU faem 1 =1 TRUMH  31Te;
B.Statement Il is the cause and statement | is its effect;
B.owi g 1l e gl sl 2 s |- 2 1S Gl

clRym s I F PR IR,

C.Both the statements | and Il are independent causes;
C.owd Sl Gsisn | saad s 1o lsa s a1

DRAYF 13T d F HRUM WUMH 3M7&d;
D.Both the statements | and Il are effects of independent causes;
D. s by G sisa | el sl 1] - i S iligm g 31

Answer: A.[JUM | HRUT 3iTg MU fau= 11 /=1 RO 31Tg;
A.Statement | is the cause and statement Il is its effect;
A G | s Gl oyl ol oo A S Gl
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7

97

Answer:

98

7 I/ g dURIA GiaRomd 3 307 g 81 ORd STt A7 SRR gordard

GET IT ON
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The circulation of water from the earth to the atmosphere and back again is known as

= llals

S ol s ol sl (B R (S (Al e Limd s (e

INCICIERS)
A.Rain Cycle
A5l o)

B.gIgasl T
B.Thunder Cycle
B.JSwil Jligs

C.Ul grd 9
C.Water Cycle
C.J&sbe s

D.gBH 9
D.Storm Cycle
D.J5% o) il

CUra=d
C.Water Cycle
C.J5be 5l

- et

I o I YT Ied Sead)

Excretory system is not associated with

dwm@ué ........ A.L.'\‘X‘\}CKJSG)B&JLA

ATUS
A.Kidneys
A 0 R

B. &4
B.Ears
B. o«

C.HwpY

C.Lungs
C. uslens

D.dl

D.Skin
D. s
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Answer: B. &4
B.Ears
B. us

99 Yigd R " gaw  gula 3R HRar Asd

A trait is best described as

= B G b ) i ali b i S eala

AQUTTT  gcamial ol
A.cluster of surface factors
ASies S dalse Sl

BTG Teeret GG
B.a temporary altitude toward a person
B. Sea (il e S Cajh (S Gadd ouS

cuam W @A eEEd Yd

C.a relatively permanent disposition of a person

DEEnm W AT STHR SUMRY arararo- fRuRa et &

D.an environmentally determined hypothetical construct that shapes an individual behavior
D. = b JSli (S )l S 2 jiie SO a2 BS jaed (S (el Lok s Jsale Lyl SO

Answer: D.R@m T AT STHR SUMRY arararomH fRuRa &t &

D.an environmentally determined hypothetical construct that shapes an individual behavior
D. = W JSin (S S 2 e SOl a2 BS el (S Goed ok s sale Ll SO

100 5x + 3y = 31 30T 3x - 5y = 5 T THUA GHIBHRUNAT GUI HROM AT x MOy T fhett:

The values of x and y that simultaneously satisfy the equations 5x + 3y = 31 and 3x - 5y = 5 are:

X 03y 5 &l gue Sy S sa Uitad o g SX + 3y =31 3 X - By = 5 G m e S iehae S

A5, 2
A5, 2
A5, 2

N

=5, -
-5, -
-5, -

W W w
N DN
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Answer: A5, 2

101 {IAT: Telter WeaAd, Eeear URmys AEwEy JEORT FgET S

DIRECTIONS: In the question below, select the related figure from the given alternatives.

R L P B EE P T
Problem Figures: Answer Figures:

kAR ARANR S 4h 151K
(A) (B) (C) (D) (1) () ((3) (4)

A1

B.2

C.3

D.4

Answer: C.3

102 GRIR TS0 AT AR 3 BT 2

AT S0
B.AT3HG gIor

C.3[ 2 BIO
D.a3d Td

Answer: D3 Hﬁ;
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103

Answer:

104

Answer:

. URUR® cfefied T JIdT — off HHdRdl 3
The traditional Television has a great demerit of—

= mbae SO S O S Sl -

Afary  onfor fRreer | SRR =T U

A.The lacking in interactions between the students and the teachers
Al U G by ey Sl 5l sl il

B.Rfafawet  fRrer =nfm T

B.Teacher’s passive attitude towards teaching
B. s Jlad i S sl ila (S G

cuaMEd [ Refamrer Rt o s

C.Inability of teachers to teach through this media
C.bll (S SleSe e o3l any )3 S Lidia Ll

D. ] v Tg!
D.Cannot say
D. =5 ~S 03

Afary  enfor fRreer | SRR = 3T

A.The lacking in interactions between the students and the teachers
Al S e s Al Ghed SoXilul gl sale Qlla

WTclede! SRS ¥ IO ?

ASHIAIR

B .G
Co &

D.STdTquil

B.SHfeA

GET IT ON
Google Play
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105

Answer:

YeHTd! IMAMS aau[e a1 a1 a1 M R g Sd—
Chemical behavior of an element depends upon its—

'ct‘\"k‘J:‘ éw‘)@\&ﬁwd&n&séaﬁmdﬁ\

ASUbTE el Ie Tt 8 a1
A.Number of protons in nucleus
A (S0 5855 e S o

B.3fU[hIId It gt & a1
B.Number of Neutrons in nucleus
B.alaad (S (y5 808 Upe oS g

C.3UhHigd fhRoum go gl d a1
C.Number of electrons revolving around nucleus
C.aland (S (s Sl My S8 (R a8 a)) S il
D.3{U[bIad UG & AT

D.Number of nucleons in nucleus

D.dlaad (S (55l g8 e i€ g

C.3UbTHIadt oM sa o= § Al
C.Number of electrons revolving around nucleus

C.alaad S o B My S8R 8a)) S il

106 U] Hll

GET IT ON
Google Play

qArNEd S A1d 3182

Blcidhs dIC QAT AV UTE |, “§TAN 381 UHdAl  Jardl Al 3Mg” A0 T

Pointing to a boy's photograph Raman said. "He is the son of my mother's only son". How is Raman
related to that boy?

NGBS S5 ) " B 8 Fnaaly S Jlegom 2" LS S 0e) S8 b (S jsai (S S5

AHIS

A.Brother

Al

B.hThl
B.Uncle

B.l>

C.ddd HIS
C.Cousin
Caylks

Page- 68
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D.dsid
D.Father
D.<b

Answer: D.d3id
D.Father
D.<b

107 e} S et o, dt enfr IR A REw A gRfade
Which of the following diagrams represents the relationship among Sparrows, Birds and Mice?

¢ o S Satila (S aldlad (e )0 S e sl U U o O5S o 0pe U5l SUIS S A ke

(A) @

00
% 'e

@
=2E

o) |©

QO
Answer: @
(D) o
108 PN eI HRAr "RIfddi gdl" ed | STd?

Which city is called the "Silicon Volley of India?

=B b b 08 s S by sl

A.%EQI@ G
A.Hyderabad
AT
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Answer:

109

B.4Td=
B.Bengaluru
B. 558

c.Hss
C.Mumbai
C.oan

D.f&
D.Delhi

D.o

B.SE

B.Bengaluru

B. 5%

AT WIeTd HIfgall dlesogad ardl ST areiiadr =Se T -

P.QR,S,T V3w Imyd Id IgHrN 3ed.T T d=fay AR onfor 3= wgantt eneq.
ddA A el " ®H HRAIG- |, 11 SIfOT 111, U TeTd U fary onfor frue U e fdbar up

T g, S g1 fary  31Tg 30T at P Tiad 111-31 TTeTd 31T, P 81 Y8 3. IT  TeTd Bbaes T 3ol

IR AN 3MTg. V BT Ay Q Hiad B1F &, |l W HIad S1H o g1 R W, R Had H1H dd
T8l

WIetU! B0 el - diF fary  3mgd?

DIRECTIONS: Study the following information carefully and answer the questions given below:

P,Q,R, S, T, Vand W are seven participants in a seminar. There are three students, two Lecturers and
two assistants among them. They work in three different groups I, Il and Ill. In each group there is one
student and at least one Lecturer or one assistant. S is a student and is in group Il with P, an assistant.
The other assistant is in group | with only T. V, a student works with Q who does not work with W.
Lecturer W does not work with R.

Which of the following groups represents three students?

o Al SOl K s a5l o5y e 0as S Glaglae i3 ke bl

PeQeReSeTeV sl W alide o5 -0m (islaa 50 )5l 58l 50 cale il G — Gae 0 -0 oS 0 s (e g SO

G R 1Ml L) IO stae Sl b eSOl oS oS sl ale il SOl pe 5 8 o S8 A8 (e S ple Gl S
G 8 o3 I e P s 8 Oslae | gmis - o (stae S sa e il S| Gipea (e T 2 il S Ve ple Gl S0 Q il S
5 AW a5l 8 o S e S Wi R g 5.8 0o 1S e 8

¢ 2 US Sl (Sl 0 g 8 L oS i e i3 e

ATVS
ATVS
ATVS

B.TQS
B.TQS
B.TQS
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C.wWQs
C.wWQs
C.wWQs

D.3q¥ Hifgel

D.Data inadequate
D. = Hst Bl

Answer: A.TVS
A.TVS
A.TVS

110 HU A ARG A "7 ghIeERr i Hrad sl Arse ariad vl Th gayd & 91 AT 31 ?

In which of the natural processes, water is one of the basic raw materials along with the sunlight and
carbon dioxide?

§ 3l g oA (gl S S gl S BLST 3 S o) g S s cume dee (L3 S

A DIy AR

A.Photosynthesis
Al Jlua

B. 9Nl BaM
B.Respiration
B. it Jac

C.3ff Ifg®H
C.Oxidation
C.283 e

D.SIferd 3faded
D.Hydrolysis
D. Sy

Answer: AWl AR

A.Photosynthesis
Al Slua

111 "URdTa FafAfid=n SHe Somer ed © Sa?

Who was called the “father of Indian Renaissance”?

o Ula lls ol Sl S e al ala e e
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Answer:

112

Answer:

A TSI A 0
A.Raja Rammohan Roy
A s ply maly

B.GUTG Il
B.Dayanand Saraswati
B. (S 21l

C.UHS. IF s
C.M.G. Ranade
C.csi)) (o o

D.IH &
D.Surendranath Banerjee
D.coa i ¢l )2

A XTSI ITHEGH
A.Raja Rammohan Roy
A S Gise el )

5761 UHUI faydil i1 ?

The total number of factors of 576 is?

576 asi (S 55 S

A.21
A.21
A.21

B.20
B.20
B.20

C.24
C.24
C.24

D.15
D.15
D.15

A.21
A.21
A21

GET IT ON
Google Play
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113 %. 6000 o AN fat Fxuget AR ®. 6500 @t B 10% 3Hfe %1 gial. T @t
fhrd @1er.

10% more is gained by selling a cow for Rs.6500 than by selling it for Rs.6000. Find the cost price of
the cow.

6500 e (S &Y S 8 S 5 S @iy e ) 6000 oty U oaly ) adi %10 —w =S Cdg b S 8 e )
LS 3L,

A’%. 5000
A.Rs.5000
A.Rs.5000

B.¥. 6000
B.Rs.6000
B.Rs.6000

C.%. 5500
C.Rs.5500
C.Rs.5500

D g0t HIurag! et

D.None of these
D. w&ss

Answer: A.%. 5000
A.Rs.5000
A.Rs.5000

114 F. 2500 ITIHHAR 3 TUNTSI 5% Tof & RSB o Pl
Find the simple interest on a sum of Rs.2500 in 3 years at the rate of interest 5%

- S pslaa S0 8e dgu i 3 (S5T A S sl 3y ans) 2500 e SO

A.375
A.375
A.375

B.150
B.150
B.150

C.250
C.250
C.250
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Answer:

115

Answer:

116

D.460
D.460
D.460

A.375
A.375
A.375

‘g B TIa " PHIOTAT AT T 3Te-
The “Valley of flowers” is located in which state-

= s e Gl S "Gl (S sl e

ARE S
A.Uttarakhand
A. ZgS) )

BW _3MUI iR

B.Jammu and Kashmir
B. JpedS 5 ysen

C.IR@

C.Kerala
C. Ains

DfeAmE g W
D.Himachal Pradesh
D. i dala

AN 8
A.Uttarakhand
A. TSyl

GET IT ON
Google Play

Out of the four alternatives, choose the one which can be substituted for the given words/sentence.

Strong and unreasonable dislike or fear of people from other countries

A.Xenophobia

B.Claustrophobia

C.Amnesia

D.Aborigines
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Answer: A.Xenophobia

"7 T BIIMTEAT 7 AT gaiaedl ARd. fqaear o= Fod ey 9oy a9 D 47
g ey 79a7?

Three positions of a dice are given. Find out which is found opposite the letter D in the given cube.

— e W Ll el S0 Gl 8 caaadtie 5 xS Js.ta.i.r.odu—..u__,,.'f‘_;‘_' TN Tl L.
R O — = 2 LI e = 3 el £ = <

HRIE

A F

B.E
C.C

D.A

Answer: C.C

118 fear  uafgite aTes o RgsT:

Select the odd one out from the given options:

01 S i S Saa o (e sl Ky

A.MNER
A.MNER
A.MNER

B.BFLK
B.BFLK
B.BFLK

C.RTAC
C.RTAC
C.RTAC

D.GIKM
D.GIKM
D.GIKM
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Answer: B.BFLK
B.BFLK
B.BFLK

119 I EEAAT H g F faue et smg T T AR A ST B SR gF A fat sime.
m‘mﬁlﬂ&mﬁ 1 "2 ead T ARIg! BT AU SRISR SHTed S FHwl.
O H = TSP 3o
T4 TSH 3R d.
fy
A®RIYH T  3Med.
B. ®IUG! @&H G Ta.

DIRECTION: In the following questions, you are given two statements followed by two conclusion A and
B. You have to take the statements to be true even if they seem to be at variance from commonly
known facts.

Statements:
Many books are rocks.
All rocks are clips.

Conclusions:
A. Some books are clips.
B. No rock is a book.

2 50 3 S o o K o iy 90 S Ol e OV e 3 aatiaiculn A sl Bl oy € clily oS Ol o K
s i ki pSe S $ilia aglea  jshale sy S LS

bl
-op O S )
-UR ‘T‘E C)ﬁ? st

da:
Al IS S s
B. = L QS s A8

ASR g Tafg A 3G

A.If only conclusion A follows
Arsii i pa AL U S Goom

B.SR %hdos TdTg B 3

B.If only conclusion B follows
Bl pa B . 2 B S ggm

CSRE ualg A 3T B 3y
C.If both A and B follow
C.ussrA B -un SS6om
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Answer:

120

Answer:

D.SR G Tufg A 3nfor B 799
D.If neither A nor B follows
Ds~Ao~B =26 S6m

ASR $de UTrg A 3T

A.If only conclusion A follows
Araiicipa AU S GHm

HRATS S T1eH, T} [y Sifor v Ja-iiesor it sior sied

GET IT ON
Google Play

Who is the Minister of Water Resources, River Development & Ganga rejuvenation of India?

o B Moy ol (855 ¢S s S @ ler

A JHT HIRaT
A.Uma Bharti
A.Sle W

B.TH. O. MeH
B.N.J. Godkari
B.s 8K = ol

C M Ura
C.Ramvilas Paswan
C.olsal oY 000

D.?RFZI Y.
D.Suresh Prabhu
D.sen S

B.TH. . Me®
B.N.J. Godkari
B.sSK = il
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121

Answer:

GET IT ON
Google Play

Qi Hgel wH e e @l fidadl  fawrar wyd e sRiguf A erie?

1. 99
2.7d
3. YO

4.990% T B

5. 3R

6. RO SR Iucar

Which one of the given responses would be a meaningful order of the following words in ascending

order?

1. Travel
2. Destination
3. Payment

4. Berth/Sheet number

5. Reservation

6. Availability of berth/seat for reservation

S5 i o ira (S B Ui~ paie SOV L S (e Sllsn 8 00 (e i S S i 5

1.

2. J

3. Sl

4. e Culi[ &5
5. Glasoin

B. (hiwd (S Candi [ gh A S &S,

A1,2,54,3,6
A1,2,54,3,6
A1,2,5,4,3,6

D.6, 2, 5,4,3,1
D.6, 2,5 4,31
D.6, 2,5, 4,31

B.2,6,3,5,4,1
B.2,6,3,5 4,1
B.2,6,3,5, 4,1
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122 HIUTS! T TICIITST SIeTeeR 3eidl § & Ve 3T

The main pollutant responsible for Bhopal Gas Tragedy is:

CT\J#J}LUA\AJ\AMS:S@LNL}&SJ%%:

AT IR

A.Methyl isocyanate
Al Sl Jiine

B

B.Bromine
B.(es n

CRI A

C.Chlorofluro carbon
C.oS 548 5,48

D.RH
D.Chlorine
D. (sK

Answer: A.ﬁﬁ’-ﬂﬁﬁ Wﬂlﬂzﬂé?

A.Methyl isocyanate
Al Sl Jiine
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123 o b A IS H_ T fayHred IR fauM sigd ai araredl A, B, C 311f0T D 31 IR fau 3imed.
aaR  faymi S fasT am dug fau™ guan faummen gaad, i gl g faym afes 1 0 @
faemread fAfed s

SR O Rasd, R Al dl 39 fadhd U3 b
A. T @S9 O3, Tl

B. T Al 39 U3 Xhd AT6l

c. Mt Ot 9 fawmd ug4

D. Ht i 39 fasd YuIR A8t

DIRECTIONS: Each question has a main statement followed by four statements labelled A, B, C and D.
Choose the ordered pair of statements, where the first statement implies the second, and the two
statements are logically consistent with the main statement.

| will buy that dress, if | can afford it.
A. | can afford the dress

B. | can not afford the dress

C. I will buy that dress

D. I will not buy that dress

in S s Ses Sluie paand g R 5wl S 63 ) e e ) e s an Sea o ales SOl G Vs syl
op Githae S ol S e GEhie laa 93 5l by So Ll gl (S Alea 2 g alea Sy (L

Lot ey i S35 e Kl
Aus B S35 (S0 e
BUScs S L 358 (S 05 (e

CR U 2 GuSos o

D& Usua 0 oS o e

A.AB
A.AB
A.AB

B.BC
B.BC
B.BC

C.DA
C.DA
C.DA

D.DB
D.DB
D.DB

Answer: D.DB
D.DB
D.DB
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Answer:

faem:

GET IT ON
Google Play

TAAX TN WPRT  fRIUT 3. d T80 WPR URUMGRIT dIefddie Migd  &Rdrd, T <t araat

Tl WeRT 4RO FepT BHRa.
Hd BIY:

|. TS XA ST °Tardr.
II. T XAT IV Tl BRIl

Statement:

Channel X is against the present government. They always encourage debates on government policies,

their news always criticise the policies of the government.

Course of actions:
|. Channel X should be banned.

Il. Channel X is should be charged with sedation.

e

.

X rdizas (e 09 (S O eam S8 (S8 Alasa (S diag g (sl Jie S dinai oy 3 GRS e S s 53 e S

= R AT O sl Sie S

Jae AaaY:
X -y o & sy s
- X o la o & iy s Jus

AT |38 3%
A.Only | follows

A Cipa | K5 &Y

BW Il 3Rl Hd e
B.Only |l follows

B. a8 5 LY

C.USR | fobal Il 3787 318
C.Either | or Il follows
C.lLl & 5 &Y S e

D.| fiar 11 GTTT " HTEte! SRRl R gl

D.Neither | nor Il follows
Dl os 118 5 G SY oen (B55S e

D.| fdar 11 GTTT & HTEte! SIIERUN HRd g

D.Neither | nor Il follows
Dl os 1R 5 G SY oo (S e e
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125 Out of the given options, choose the one which is the correct passive voice of the sentence given below.

Will you accept the position?

A.Will the position be accepted by you?
B.Can the position be accepting by you?
C.Should the position be accepted with you?

D.Have the position been accepted by you?

Answer: A.Will the position be accepted by you?

126

Answer:

@ 3ER IRedEied ek yerufh Ogd fadr 3R,

is when concentration of a substance increases along the food chain.

o a0 gl S (s 358 IS (S 0l sa S n o ligy g

ASafy  faxor

A.Bio magnification
A iSiion sl

B. T
B.Adulteration
B.cri A3

C.5g Y9

C.Bio adulteration
C.o% A% sl

D.aAUD! Thgt ATet

D.None of the above
D.us &S =m0 0

ASafy  faxo

A.Bio magnification
A iSion s
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127 Tan: QUi R g FEforaRmrdt | @t fddt (P), (Q) (R), (S) ST B U™ ar A SHM
TR I T AR @EAT FH3 T .

P. ASIIFIATS Med S~ 3 A IR B 3AUTel  SiaeM et e .
Q. e el fHefam @R Rig SerRet ISt ARG 3Nf0r Sruimg! Weh eTehdl.
R.TMEd UT®IT g aU A THISard 3f MY Srdrd.

S. I RIGRIR DI 3R IS0 Medrel Bhagd UHI Id - TS

T. ST O, T AT @A eIl 308 ared Rig 3Tsar ddl.

TR PM @R Wedid! o al  ulkd 3&a?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The cunning fox promises the lion that he can have the ass for dinner, but asks that his life be
spared.

Q. As soon as the ass was secured, the lion jumps at the fox, killing it for its meat and ends up having
both.

R. Two partners, the ass and the fox, go to a forest to find food.

S. So, together the lion and the fox trick the ass and make him fall into a pit.

T. On their way to the forest, they meet a lion who wishes to eat both.

Which of the following should be the FIRST sentence after rearrangement?

ostes @l o) iy (P)e (Q)¢ (R)¢ (S) s (T) wstlsm =8 20 2 sy S o sy A S iy e b S
s S

P Ssen ol G50 IS S jad 95 (SUSatey —w i 5 s5a0 2D,

Q. W ke S 5is0 ) 1ol Al S s &l o s5asl oed ke S jad il s,
R. =8 A S 53l UleS ae Kin e s3as) Dsl s g 50,

S. WS el S S8 S Sl Hsl (S S Sl S pa S STl sl el o5,
T. L5 lila ULeS S 5390 o o Do ) 5800 iy ila i,

§ e Ug oalea La g 2y S S0 i g

AR
AR
AR

B.Q
B.Q
B.Q

C.S
C.S
C.S

D.T
D.T
D.T
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Answer: A.R
AR
AR

128 fgareh sreameed : [~ — offdr +, T 3PS 8 ST 15; R 15 + 4 — 8 T Yo favel ?

Given interchanges: signs — and +, and numbers 8 and 15; then the value of 15+ 4 — 8 is

2 laxi S8 =4+ 15 5415 43l 8 i gl ot L) - e 1 Dl K

A4
A4
A4

B.6
B.6
B.6

C.19
C.19
C.19

D.2
D.2
D.2

Answer: C.19
C.19
C.19

129 Choose the word which is opposite in meaning to the given word.
ALIEN
A.Native
B.Foreign
C.Overseas

D.Unfamiliar

Answer: A.Native
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DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

Apple :Fruit ::
.wﬁu&uﬁlﬁluﬁﬁﬁn:ddh&:\gda cwd\ydﬁl,\;)d&\ *Cran

Je i

ASIST: a9
A.Shoe : Lace
Aid ;s Uga

BR o

B.Teacher : Class
B.o2S ol

C.HH : IR
C.Neck : Collar
C.s: X

D ferdfl: Ba
D.Lily: Flower
D.dse 1A

Answer: D.ferait: Bd
D.Lily: Flower
D.dse 1A

131 TN "ATYART fary W P2

A8
B.HETIHId
C. 7y
D.HI3T

Answer: A&
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SR+ AT HY AOTRR 3T, X AET Y ANISR 3%, - A Y a3 it '+ arEr
HY FATETRT A8, dX Glelld TAELONT 3T H HTE?

If "4+" stands for multiplication, 'x’ stands for division, '-" stands for addition and '+

stands for subtraction, what is the answer for the following equation?

P
Al glesas

€ 1

£
LPe]

i

B

L 1€

20-5:18%(3 +2)="7

A. 20

B. 18

C. 108

D. 22

Answer: D. 22

133

Answer:

134

Out of the given options, choose the most appropriate one to fill in the blank.

A crow a piece of cheese.

A.sto

le

B.have steal

C.have stole

D.has steal

A.stole

NS U Uad T " IRITBR gl 3les@rd  Adid
Big five personality traits also known

= lla Ula e s ol Gl S Clpm e S Cluadld 65 &l
AU 9chig |

A five factor personality
A. oadd yalic mib

5 ot 8 5 i B IK 5 8 b o i SIS pan LY ol IS a2 e S K ' R
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Answer:

135

Answer:

136

B.UM AIG | A
B.five famous personality
B.owadd ) gpda il

C.U Ycdh JH-T
C.five factor model
C.Jk yaic &l
D.gceid fd T
D.factor analysis
D. maiS jaic

C.U Ycdh JHAT
C.five factor model
C.J yaic mil
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A$S dIc GG B UMAT  “G3N SIS ST AN 3MTSd! Faid de™ Joiv1 318.". A d B Wiad A H1 35?2

Pointing towards A, B said “Your mother is the youngest sister of my mother”. How is A related to B?

A 55808 Gk S0B  op Baen oS dle e e 591" LS L A S B e A LS

A D[DT

A.Uncle
Ales

B.gcld HIS
B.Cousin
B.a)laa

C.Ydrl
C.Nephew
C.lam

D.dsd

D.Father
D.<b

B.4dd HIS
B.Cousin
B.a)

‘H HISTIGT =T 3Tg.. I aad

AHAT

fo=IvoT S
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B. 1T
c.dsal
D. Tl
Answer: B.hTad]
137 G| I ECARIS RN o | el
Adsh
B. 4T
cHr
D.a3d 9d
Answer: DRI Hﬁc

198 AT Wiellel GoaAld Ueh SESeell BRI gRaidell e, 3uiredl GAiAideh! Hordr waia o ar

Iegrear faveer arsten A5er?

DIRECTIONS: In the following question an unfolded dice is given. From the given alternatives which
of the following will be opposite of « 7

e |3 i .;'_;_qff_uu s a¥aliaa .f_{,f.f_fﬁz e l!f L2 aL_.-ﬂ |3-=- M | aa J|_g.uJ Ji3 A7y an H M Y

{.'lf_g.ﬂun.l_‘n'}r}g-’_ij
0O
1{2)e
o
3
A 2
B.3
C.1
D.o

Answer: C. 1
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Answer:

140

3 I 11 fAfAC 43 Ydbg 30T 15 I 20 A 30 g T RIS B

Add 3 hour 11 minute 43 second and 15 hour 20 minute 30 second?

3T oS 550w 30 Cie 20 A€ 15 ) 350w 43 e 11 23S

A.16 a9 31 AT 13 b

A.16 hour 31 minute 13 seconds
A.16 550w 13 Giie 31 A5k

B.14 drg 21 fafe 73 b

B.14 hour 21 minute 73 seconds
B.14 35 73 uie 21 &8

C.18 a9 32 fafAe 13 Qe

C.18 hour 32 minute 13 seconds
C.18 35w 13 e 32 538

D.18 A 31 fafae 73 T

D.18 hour 31 minute 43 seconds
D.18 55w 73 &uie 31 A2l

C.18 a9 32 fafAe 13 A

C.18 hour 32 minute 13 seconds
C.18 £ 13 Cuie 32 ik

WRE I o

Harare is the capital of -

=l ol

Afsm °
A.Zimbabwe
A.S o sl

B.gIMST
B.Uganda
B..S 155,

C.&ARMT

C.Tunisia
C.S Lo

GET IT ON
Google Play
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141

Answer:

142

GEIT ITUIR 4:5 311 MOTT o1 HATE! 8 3. AR T AT A1a! HIal?
The ratio of two numbers is 4:5 and their HCF is 8. Then their LCM is?

f oS al e dd SO o= 8l ) SO sl 245 @S g 50

A.130
A.130
A.130

B.140
B.140
B.140

C.150
C.150
C.150

D.160
D.160
D.160

D.160
D.160
D.160

D33

D.Vanuatu
D..S 555

Afm
A.Zimbabwe
A.S o sl

A uRa R emdr

is a first teacher for a child

e A S

A3TTS
A.Mother
Aok

GET IT ON
Google Play
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143

Answer:

144

B.foar

B.Father
B.cb

C. X1 ufean s

C.First teacher in school
C.alae M 8 J 5

D. 3Toll-3fTsfaT
D.Grand parents
D.cala lala

A3TTS
A.Mother
A.0w

GET IT ON
Google Play

Taa=ar 3fewer meel Be TE S HR?

What is the number missing from the third target?

,_—-x_saSJm;J-mz,_—L‘,_i&_JA"uf_Juﬂ
4 5
1G9 2604 30Hs

2 3 4

A. 18
B. 45
C.35

D. 53

A. 18

I EEaT g fdr gaamgE el er /1 [T fas

Yfoat : ford ;SR 2

DIRECTIONS: In the following question, select the related letter/word/number from the given

alternatives.

Geometry : Maths : : Biology : ?

.wﬁmw/ﬁ/uﬁwcadabhc\gdﬁcuyd\)udgé,\;‘)du&L«.n

VN PY PR P P AP TN
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AT
A.Geography
A8 e
B.dd
B.Behaviour
B.sbn
cfam
C.Science
C.ouil
D.3oil
D.English
D.s xSl
Answer: C.fam
C.Science
C.oibs
145 Yo U T
8451 + 793 + 620 — ? = 6065 + 713
Simplify:
8451 + 793 + 620 — ? = 6065 + 713
ol el
8451 + 793 + 620 — ? = 6065 + 713
A.4912
A.4912
A.4912
B.4712
B.4712
B.4712
C.4312
C.4312
C.4312
D.giUp! HIuTda! ATa!
D.None of these.
D. o &S e 0.
Answer: D.git! HIorag! AT

D.None of these.
D. o &S e 0.
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146 'OBSTETRICIAN' URI @R A TSI HIUA W TR H OS> Wb ATRId?
Which of the following words cannot be formed from 'OBSTETRICIAN'?

Lai € e B (S ~a 50 'OBSTETRICIAN' § = BSeals Wl Gad

A.SOBER
A.SOBER
A.SOBER

B.TERMITE
B.TERMITE
B.TERMITE

C.RETAIN
C.RETAIN
C.RETAIN

D.SIREN
D.SIREN
D.SIREN

Answer: B. TERMITE
B.TERMITE
B.TERMITE

147 WUt 3G dl DI 2

ASIHET  TTTaTd dif SfTedt et .

B.URd AT HaA YR ciall 314
Cferl & IeeR d fih¥eb dlc.
D.USH HIYATd Jllolaes 3718 SHUIR 313,

Answer: D.Udhl CALRIG] g?ﬂaaa? Gﬂ'scaﬂUTl'\f 3.
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148 YIS AOrBE ~ gy anforuma - fiur ofg. ufgr WiW (U ) AWM gy S ume
TUIR 8:3 3B MMUIGEATUE U  BUTH  GUSMUIUME  TUIR 5: 1 318 gY 30T
U TUIR 4 :18ME AT YT AT 35 e 1 3Reia His HRal et W9 "A" Yirdy 7 fobat

o

feTe) Odd SITIel g4

Two vessels A and B contain a mixture of Milk and Water. In the first vessel (i.e) Vessel A has the ratio
of milk to water is 8 : 3 and in the second vessel, Vessel B has the ratio of milk to wateris 5: 1. A

35 litre capacity vessel is filled from these two vessels so as to contain a mixture of Milk and water in
ratio of 4 : 1. Then how many litres should be taken from the Vessel “A”.

Fr A Dy B Gin () G e on dailie ;oS e S (b sl 8000 A o pugd sl 2318 i lS s il JL e
GBS G )l a0 A8 el e U e U5 053 O i Vs S (S S35 . 1 1 5l IS 850 (e b e
G 1 S e 1 4 AT i ) S

A11 fa1.
A11L
A1 Al

B.12 foI.
B.12L
B.12 5l

c.ofa1.
coL
C.9 Al

D.10 for.
D.10L
D.10 il

Answer: A.11 fa,
A.11L
A11 Al

149 JTAF®HES! ) T o (&8t )udt — A Sf@mIiY® auRT A
Inductive and deductive methods are popularly used in—

= Jsia (e - JlesiallS (5 b SIS ) ST

ATTOTT Risbaur
A.Math’s teaching

Aol S (o2l
BT fRrpaur

B.Science teaching
B.aulad (S (il
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CTau  fRremau

C.Grammar teaching
C.pulei (S el R

D.a¥d 9d
D.All the above
D.(:LAS bJ}S;\A

Answer: D.ad Id
D.All the above
D.(:LAS DJ}S;\A

150

—)

(6x6Xx6)+(2X2X2)
(6x6)-(6X2)+(2x2)

A.5
B.6
C.7

D.8

Answer: D.8

151 Out of the given options which best expresses the meaning of the given Proverb?
A rolling stone gathers no moss.

A.People who are always moving, with no roots in one place or another, avoid responsibilities and cares

B.A person who always travels and has no fixed abode is always eager to accept the responsibility of
others

C.A person who always travels and has no fixed abode is always ready to provide shelter to anybody
and everybody

D.None of the above

Answer: A.People who are always moving, with no roots in one place or another, avoid responsibilities and cares

152 Choose the word which is most similar in meaning to the given word.
RELEVANT
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Answer:

153

A.Applicable
B.Unconnected
C.Unrelated

D.lnapplicable

A.Applicable

GET IT ON
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I WA Hifgdl diedeigdd ardl T @rea T e T

P,Q,R,S, T,V 3T W IHYT  I1d GgHFT 3ed. T Td < fary <R 3nfor g ggantt sed.
AT AT TCH  BTH BHAT- |, 11 307 111, UAP TTerd U fary  3nifor fpue U R fdhar uas

Teanh 3e. S eI fary  3mg Mfor dt P Aad 111-37 TTeTd 318, P 81 Tganit 3MMg. I T

TTeTd Hdes T ST

GIRT wganft ofg. VRIfAly  Q Tied & &xdl, St W Iied &1 & ATal. 1% W, R Tiad &1H &d

gl
wReht e arn

TTeTd YT dRid &dl Id aR, DIUT - TTeTd W HTH HA?

DIRECTIONS: Study the following information carefully and answer the questions given below:

P,Q, R, S, T, VandW are seven participants in a seminar. There are three students, two Lecturers and
two assistants among them. They work in three different groups I, Il and IIl. In each group there is one
student and at least one Lecturer or one assistant. S is a student and is in group Il with P, an assistant.
The other assistant is in group | with only T. V, a student works with Q who does not work with W.

Lecturer W does not work with R.
If both Lecturers are transferred in group I, then in which group does W work?

o Sl S sl R o sl o5y e e S el i an e 1y

Pe QRS TeV sl W alide (o5 -0 islaa 53 sl HsaSal 53 qale s s e O -0 #1858 Gl (e s S
G S eIl sl 11O Gstae S L D a8l Syl S oS gl ale lls SOl (e s 8 iow S8 a8 (e S ple il KO
G S O3 I e P s 8 Osbaa | s - (stae Sl 53 ¢ il S| Gipea e T 2 el S Ve ple Gl S0 Q il S

2 = USASW oS o U S gy alS gl SWeR - 2 US g a8 il S
QR oS usisn Bl ey seosla 0 S e oo W S 2 BS IS e 5 S S

AHde |
A.Only Il
A |l

B.%da ||
B.Only Il
B.ci e I

c.ifdar
C.llorlll
c.luln

D .Gt} BIurcigt Arel

D.None of these
D.ow 258 e )
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Answer: D.?Traﬁ ﬁﬂﬁﬁ'&ﬂ 7-|Tﬁﬁ

D.None of these
D.ox 258 = U

154

Answer:

155 A EdaT q o fqdr gaamyE et er /1 AT g

MY 7 sl g A 38

For a Layman personality of a person is

A TREIRRS W T

A.His physical appearance
Al Jlws S ) (appearance)- —

B.ARNEA o
B.His intelligence level
B i b (S wilid (S

C. 1 a1 g1
C.His colour of skin
Copm s &8 (S 2 Baa Sl

D.(a), (b) 30T (c)
D.(a), (b) & (c)
D.a<b sl cuss

A TR IRRS W T

A.His physical appearance
Aol Slews S Ll (appearance)- —

AYATRR : Uies : ; ISl
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DIRECTIONS: In the following question, select the related letter/word/number from the given
alternatives.

Bee : Hive : : Horse : ?

$ 15568 1 Mg 65 (S 3
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AR
A.House
A. S

B.AW/ e9d
B.Table
B.

c.asar
C.Stable
C.dihal

D.ER¢
D.Nest
[DJRANEPHS

c.dsdr
C.Stable
C.dhal

e Treiau®! UAS 1, AfipAd Uh I Jobid 3ffe. gbrdi 61 e,

2,3,9, 27,112, 565, 3396
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DIRECTION: In each of the following questions, one number is wrong in the series. Find out the wrong

number.

2,3,9, 27,112, 565, 3396
—a56S S ahle Gl okl 5 SO e dlse

2,3,9, 27, 112, 565, 3396

A.565
A.565
A.565

B.9
B.9
B.9

C.112
C.112
C.112

D.27
D.27
D.27
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Answer: B.9
B.9
B.9

157 el THHRUT T HleT:
2143.120 + 1629.01 — 1863.0021 — 218.1008 = ?
Find the value of following expression:
2143.120 + 1629.01 — 1863.0021 — 218.1008 = ?
S slee e (S O ghase dd

2143.120 + 1629.01 — 1863.0021 — 218.1008= ?

A.4261.6211000000003
A.4261.6211000000003
A.4261.6211000000003

B.1521.0119999999999
B.1521.0119999999999
B.1521.0119999999999

C.1691.0271
C.1691.0271
C.1691.0271

D.1844.2861
D.1844.2861
D.1844.2861

Answer: C.1691.0271
C.1691.0271
C.1691.0271

158 fear  uafgite aTes o RgsT:

Select the odd one out from the given options:

OIS e S Saa o e e Ll K
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Answer:

AT
A.Spoon

Az

B.ITalt
B.Basket
B.s S5

cwc
C.Plate
C.cul

D.arSh
D.Bowl
DALy

B.eIUah
B.Basket
B.s.Ss

AT fSaTS" AT gHhd | A PIUT ga?
Who is the author of the book “Life Divine”?

O Chiias S g3 (Y S

AAFTY TR
A.Abanindranath Tagore

AL S gl

BT fdd®rg

B.Swami Vivekananda
B. il g (el g

C.3Rfda Ay
C.Aurobindo Ghosh
C.UiseS 525

D.gi0es! BHoft ATE
D.None of these
D.ud &S = o)

C.3Rfder gy
C.Aurobindo Ghosh
C.uiseS 5au5)

GET IT ON
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160 I @ WA Ieadidid 4TS FIOTeT T4 ATFdE TeAHE AFr HaHT AE?

DIRECTIONS: In the given question find the answer figure in which question figure is embedded.

3] Rl vev

A1

B.2

D.4

Answer: A. 1

161 e Eeia 2 SOl TDIRME IR ATSUR &,
(1) Spruce
(2) Spume
(3) Spree
(4) Spurt
(5) Sprawl

DIRECTIONS: Arrange the following words according to the English dictionary.
(1) Spruce

(2) Spume

(3) Spree

(4) Spurt

(5) Sprawl

-0 S e oS Bl 3 s ke (Bilae S il (g5 K01 1wl

Spruce (1)
Spume (2)
Spree (3)
Spurt (4)
Sprawl(5)

A5,3,1,2, 4
A5,3,1,2,4
A5,3,1,2,4
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Answer:

B.1, 2, 3,
B.1, 2,3,
B.1, 2, 3,

C.3,5,1,
C.3,5,1,
C3,51,

D.5, 4, 3,
D.5, 4, 3,
D.5, 4, 3,

A5, 3,1,
A5, 3,1,
A5, 3,1,

4,5
4,5
4,5

4,2
4,2
4,2

2,1
2,1
2,1

2,4
2,4
2,4

fay dld td@ TS —
Pupil-centred method means—

S b 8 ik ey S e (S S

Afay P9 Reart ud

A.Pupil-oriented teaching method
A% Ak e s Gl (S AL

B. 9195 Ud
B.Child-supportive method
B~k stae JUikl

C.gded _uul R
C.Liberal learning
(OALENWIR K]

D.a¥d 9d
D.All of the above
D_('.\LAS bJ_’S;\A

D.ad 94
D.All of the above
D_(:LAS bJ_’S;\A

GET IT ON
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Answer:

164

urdtd Tt WA geTE ™ gdrd

Aquatic animals breathe with the help of

o i il 20 (S wsosla

ATHY

A.Lungs
A £ Sene

B.dq
B.Gills
B.. 3¢

CAHAlh
C.Nose
C.su

D.dig
D.Mouth
D. ~w

B.dd
B.Gills
B.. 5K

O foon gaiaimyd T fAae.
Y RE@o=T - gay 3@y R Rt ame Sy SHedeT - 9y .. Jiad 378,

DIRECTIONS: Choose the analogous word from the given alternatives.

Anesthesiologist is to Administration of anesthesia as Dermatologist is to

GET IT ON
Google Play

------- 1S o gl il o AS Lo il S apallatl pnsgrinad) o (3la o Loy 5 1S Canin ol guagianil,

B.T&™ 4o
B.Children

B. U

Page- 103
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cdl

C.Skin
C. aa

D.Eyes
D. usesdl

Answer: cdl
C.Skin
C. A

165 el @ US QUM s ™ IS s EgH MY Trarell  Sifdhd dhaid Sied. AT YR
Taaar  oa Faer

faem:
SdAT d T WRIGH U A I Blgd AdiH a9 di bal. ST I Tt
%ﬁmmw IS @ 3Mg ST o0 GRIG  SIERUT S | FIamW T Wit g

Ay
|. SielT 3RS T 318,
II. SiTel o[y 31Tg.

DIRECTIONS: The question below has a statement followed by two conclusions numbered | and II.
Based on this choose the option that is most suitable.

Statement:
Joby launched Market Lane from a small office in his own apartment. Today the success has sparked
his charitable side and he has given over USD 200 million to numerous causes.

Conclusions:
I. Joby is from the USA.
[I. Joby is a miser.

.\_LI-

ol
J}\u*:\S)gL;\uLAJ\M\)JMuw\:‘;\L:uLSCjQS)EYS&&&SJM:&JEJ:&E}H@\L%MJQ\C\:\\:‘;}P
O = LIS (Sael (e 200 L 0sSs die G5 i (AS

=

| = e Al Bl S sa

Il = oS s
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Answer:

A®ds Y ‘T F | AU SAEH 3%

A.Only Conclusion | follows
A~ Cipa | 8 5 SY

B.Hass MY ‘W & |l AU S99 3%

B.Only Conclusions Il follows
B. i iy || 8 5 &Y

cfy ‘m & ifFarnsga  ome

C.Either | or Il follows
C.ALIK 5 SY Sy e

DPIUAE A “eEd AT
D.Neither | nor Il follow
Dol osh -8 5t &Y (3 (BS e

DPIUAE A “eEd ATl
D.Neither | nor Il follow
Dol osh -8 5 ot &Y (s (B e

R S YaAUGGT 9 A Y& el famr  — rfget s

The article’s image projected through overhead-projector is seen—

= S (85 sl S ISl 00 S i a3 S a5 3 )5

ATRT IR
A.On the head of the speaker
A g s S Sl

BIhdr |1 3101 AT STo[aR
B.On the head and backside of the speaker

B.y s e oyl e S S
CUSIR Thdl |1yl 0T Anfiet Sreer

C.On the head and backside of the speaker on a screen
Con s om0 om S S oy e Sl

D it HIurde! et

D.None of the above
D.us S = e sl

C.USTaR T3l HIYT 3101 AT Srefar

C.On the head and backside of the speaker on a screen
Coop s e 05l e S Sl o Sl

GET IT ON
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167 Tan: QUi R g FEfuraRmrdt | @t fadt (P), (Q) (R), (S) ST BT U™ ar A SHM
IRIAN ;T AR @EAT FH3| T .

P. ATl MEd G 3 Cd aqR &M SAUTel  SiiaaM aret  faedt o,
Q. MearaR el Hsfad R Rig Perel IS ARG 3nfor SraiFTe! Wi erda.
R Ted MU PN gad A UHISHTemd 3 [MUNTS  Srara.

S. I RIGRIR DT 3R IS0 MedTel Bhagd UHI Id - Tadrd.

T. SATATd ST, T AT @RI CIbn 3(UaH died Rig 31sdT Ial.

TR $HE R Wi s ar 9y 3Rd?

DIRECTION: Rearrange the following five sentences (P), (Q), (R), (S) and (T) in the proper sequence to
form a meaningful paragraph; then answer the questions given below them.

P. The cunning fox promises the lion that he can have the ass for dinner, but asks that his life be
spared.

Q. As soon as the ass was secured, the lion jumps at the fox, killing it for its meat and ends up having
both.

R. Two partners, the ass and the fox, go to a forest to find food.

S. So, together the lion and the fox trick the ass and make him fall into a pit.

T. On their way to the forest, they meet a lion who wishes to eat both.

Which of the following should be the FOURTH sentence after rearrangement?

ostex b o) @bl (P)e (Q)¢ (R)6 (S) st (T) uslh s =8 8 o ey ¢ s qaii o Jlgs A1 Sl | m ciee by S
e als S

P o285 ol 05 IS € gad 55 (SUSsaey u b S5 s5al (a1,

Q. b3 e S i ) ke ) S b & _alliia oy s5asl edicle S jad il o,
R. =8 A S 533Ul e an e s3as) Dsl s g 5o,

S. LSyl A8 S S )5l (S dla (S Sld S ad Sl ST ol el 5
T. &5 Ly UleS oS 5390 0 o Dha Ll Q) 5800 ey s s,

f b lplhmalalbgSa S _acuwyis s

A.S
A.S
AS

B.P
B.P
B.P

C.R
C.R
C.R

D.T
D.T
D.T
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Answer:

169

AS
AS
A.S

JAUTd B 1A -] gebial (A 3oy

A false belief held despite strong evidence against it

Ost oS Qsfibguas o S Gl S ol Sl oGl 35 S gl

A STHTY
A.Hallucination
Al s

B.H
B.Delusion
B.~ ks

CATBTEN
C.A to B both
C.a sb usise

D . SrUIeR fEgaiiar (U _dia faarR)
D.Bipolar disorder
D.o A (ki 5

B.H
B.Delusion
B. ks

413%x40%x18 = ?

413x40%x18 = 7?

413%x40%18 = ?

A.297306
A.297306
A.297306

B.273960
B.273960
B.273960

GET IT ON
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C.297360
C.297360
C.297360

D.293760
D.293760
D.293760

Answer: C.297360
C.297360
C.297360

170 A @relid U gul Hifeids |, BTel 3R 7T 3Med, o Wieht fear  wafgi /1 " Tt AF e
ARd. W g s,

cccbb - aa - cc - bbbaa-c

DIRECTION: In each of the following letter series, some of the letters are missing, which are given in
that order as one of the alternatives below it. Choose the correct alternative.

cccbb - aa - cc-bbbaa-c
c.‘%J\'w‘:‘i‘ts‘:"‘“"C“‘w—"JL»‘:‘i‘c“gédﬁﬂic’”u‘gqﬁﬁsc‘cwéqﬁéaﬁ?qw

cccbb - aa - cc - bbbaa - ¢

A.acbc
A.acbc
A.acbc

B.baca
B.baca
B.baca

C.baba
C.baba
C.baba

D.acba
D.acba
D.acba

Answer: B.baca
B.baca
B.baca
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171

Answer:

172

Answer:

173

GET IT ON
Google Play

DIRECTIONS: A sentence with an underlined word is given below. Find the Word which is most similar
in meaning to the underlined word.

She was completely baffled by his strange behaviour.

A.Confused

B.Assured

C.Convinced

D.Peaceful

A.Confused

ToTeret eE—
The rusting of iron—

Sy S o

A. U1 g5 gead

A.Decreases its weight
Ao i e S ooy S

B. ITd 9o dledd

B.Increases its weight
B.o il S o)y S

C. g\ /T

C.Remains same
C.=2b s

D.FRTAT Ad T8} (3GIS = d1d Il )
D.Can’t say (unpredictable)
D.ts8 Oy QL) 5 nS (i 42)

B. g1 9o dTedd

B.Increases its weight
B.—= i3 S s S

Out of the given four words only one is not spelt correctly. Find the word that is not correctly spelt.

A.Florescant

B.Fourth
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C.Frantically

D.February

Answer: A.Florescant

174

Answer:

175

feptom=r” g 3 FAfd et W

The incentre of a triangle is determined by the:

o Ul LS (i € il S e

AH
A.Medians
A. sl

B.® I gHINIdh
B.Angle bisector
B.~sl ) cauai La

C.dd gHIS®h
C.Perpendicular bisectors
C.cavaiibghi (5 5ac

D. 34l

D.Altitudes
D.obib

B.®H gHNI®H
B.Angle bisector
B.rsl) capali b

fear  uafgite aes o RasT:

Select the odd one out from the given options:

OIS e S Faa e e bl &

A
A.Nut
A.cs

B.®ic

B.Plate
B.cul

GET IT ON
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Answer:

C.CIR
C.Tyre
C..

D S RTS
D.Bangle
D.sls

B.Wic

B.Plate
B.cul

GET IT ON
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176 LI e Ay onfor = AR ™S |, efn v G smea. g faymema: @ o9 Jydd 1 Y
A AT 3MTed o IHol. fed " doar Ay fear fumiaa f Sed 3% I@aig 4t
AT 3MTe. gHe SR gfrd &,
faem:

(a) 99 AR Rig 3R
%a?@muﬁ?&nﬁa.
|. ®Tel Rig are Argld.
II. Td arg Rig 3.
11, BTE! Ty g 3.
IV. gd R 919 3{Ted.

DIRECTION: Two statements are given following by four conclusions, I, Il, lll and IV. You have to
consider that statements to be true, even if they seem to be at variance from commonly known facts.
You are to decide which of the given conclusions can definitely be drawn from the given statements.
Indicate your answer.

Statements:
(a) All peacocks are lions.
(b) Some tigers are peacocks.

Conclusion:

I. Some lions are not tigers.
[I. All tiger are lions.

[ll. Some tigers are lions.
IV. All peacocks are tigers.

uﬁd&m#uy%)\%ﬁsﬁmﬁujajﬁg\%\_ Il T D)) IV.U—‘?-.'D}U,-}AC.‘?SJ/\%)Q ‘dmLAMJJm:\Lb}}S&#L
L) 0 e Gl s o US JLER) )y sk il e e osadd 8 0 S Qg (S il Can Glis ol
e XNl e,

Ol Jlehl:
= o s ol
o i eS,

i

| Ss o S e e2s,
Il = oed Sl

. = ed s eSS

V. o S ) ol

AFde A e

A.Only conclusion Il follows
A 25 Jl ] o BS il

B¥ae Ay v Rudr

B.Only conclusion 1V follows
B. mli J& [V o b S cilas
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Cc.¥ae Ay | fFuar

C.Only conclusion | follows
C. zl Ja | - S cilas

D.%ge Ay 1 Fear

D.Only conclusion Il follows
D. &2 Ja ] o bS (il

Answer: A.ddes Ay 1 o)

A.Only conclusion Il follows
A 2B JB ] oGS bl

177 ST gE I TEe gd iadHl SWsd 35, IAR (A1 THIAUUl ™ ° PR 3Med. o SR
yfld df BT Pl DRIA?

When a child is stammering in your class, the students collectively make a mockery of him. What action
should you take in this case?

LS Al 8 LS S Gl (e Dy s sl oo SS G S Gl sh eldial ple s 5 ¢ UISG g SO (e DS (Sl s
¢ _ala
==

AT Thfagur fRm - o

A.Giving collective punishment to the class
Al ) pu oeldial S (W3S

Bd &-GNIRTH QU

B.Giving lecture on speech-defects
Bl sl pails S 8

cl fam ‘@w USRI SRSTATE o1 o, R aSsdd d gl HBaul

C.Suggesting the student if anybody make a mockery in future, he immediately report it to him
C.cod ena g3l (S Gl sk s o8 5131 (313 (ae Jiiess (558 BN AS (o 3 oy sdie S ale illla

pfar o oy SUER w0

D.Giving therapeutic treatment to the student.
D.UlsS £MelS i 58 oo i,

Answer: Bd _ @-GINIaR TH aul

B.Giving lecture on speech-defects
B.lus saSl ol S 5 8
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178 5 fearardt 10 AR Ia9 5. 1250 8. SR Y P dq1 g AR JaIm g SRd. R 3.
1600 HHIST 8 faaqiardl favcl go i 1 HR1d?

Wages of 10 women for 5 days is Rs. 1250. If daily wage of a man is twice that of a woman. How many
men must work for 8 days to earn Rs. 16007

10 S Ospedl S8 5. o (R pd i (S50 59330 S A0 S 300 R 2 250 1250 susie S U5 5 S usise
(:Cgéscxusmootsﬁﬁujsetsws

A5 7Y

A.5 men
A.5

B.8 QW

B.8 men
B.8a

CATY

C.4 men
C.4.2Y

D.6 O

D.6 men
D.6<)

Answer: C4UY
C.4 men
C.40d

179 HoeT Gl e, Reear wiEAYe AREEy SO sgdt e
DIRECTIONS: In the question below_ select the related fipure from the given alternatives.

Yolae =5 28 iom Jiae S W3asblag

e =

—_ 2 nm = A L= =y
o T-M_’-:l'_‘iﬂll ”_M:-;_:.n i

[,

Problem Figures
D&l a] -

Answer Figure

DR 14|

A B C D

A. (A)

B. (B)
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Answer: D. (D)

180 o faeear gy Aot qof ot ae st feEs
DIRECTIONS: Complete the series by choosing night figure from the given choices.

—oS S Al S F e S e Ao e e SUSET S5 D il

Froblem Figures

1 2 3 &
Answer Figures
-ﬁ oo 2 :::="¢ oj”*
(a} 53] (e id)
A. (A)
B. (B)
C.(C)
D. (D)
Answer: B. (B)
181 CAIYTAY AT R el I,
A AT + Y
B.3HY + &Y
C.3M1Y + 3Ty
D.3AHTY + ATdT

Answer: D. Y + 3T


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

247

182

Answer:

183

6x2 + 77x + 121 = 0 IT FAHIBIUE & TR

The roots of the quadratic equation 6x% + 77x + 121 = 0 are:

6 Sy S Gl e mapax?+ 77X + 121 = Oua

A1, 7
A11,7
A1, 7

B.11, 11/6
B.11, 11/6
B.11, 11/6

C.-11,-11/6
C.-11,-11/6
C.-11,-11/6

C.-11,-11/6
C.-11,-11/6
C.-11,-11/6

S IO [T BT 31822
Who is the Chief Commander of all the three forces?

§ 2 0sS JBS Gy Szl 8l s

AT TH.
A.P.M.

A abel s

BT gUd!
B.President
B. 2

cIu #H
C.Defense Minister
C.gldy n),

D HHIRIA @

D.Chief of the Army Staff.

D. Gl o) Gl Caa,

GET IT ON
Google Play
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Answer: BXI EA'CI_cﬁ
B.President
B. =

184 T AT 3/4 AQH AA@TEET 9@UT 2 AN S 9 ANl [T AT 9@ Bler?

Walking at 3/4 of her normal speed Shweta takes 2 hours more than the normal time. What is the
normal time?

L:.‘S C—é} e = L.sj@‘l "‘“’:‘). ij:‘é'g 2 — C—‘EJ [l C‘.‘.‘ U5l c“):’ cﬂ? ] J\:‘éJ J‘u" CS :4;3/455 Jt‘éJ US d)“‘"“
¢
=

A4 dE
A.4 hour

A4 =&

B.5 dI¥
B.5 hour

B.5 =g

C.6 di¥
C.6 hour

C.6 =l

D.8 di¥g
D.8 hour

D.8 xS

Answer: C.6 d¥d
C.6 hour

C.6 s
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Answer:

186

GET IT ON
Google Play

I Wl TeAT Iealdia TaeT HI0TeAT T4 HFHdlT TeATE AT AT AE?

DIRECTIONS: In the given question find the answer figure 1 which question figure 1s embedded.

=i s:-‘_“_{;;uj,

@
=== = e L =T WS

L4 |V X

B. (B)

(&) (e -]

SITHTE Ad —
Yawning occurs —

= sl Sl

AX dE Y CO, 1 3R ded did g

A.Due to excess concentration of CO, in blood
A 05n CO2 s mas (oS (il i€ o) was S

B.pUHH™ A CO, U 3R o Hgd did gob
B.Due to excess concentration of CO, in lungs
B.ox usene CO2 —s s (S (plu i€ aay ) —w s S

CIX dH IO, AR dTIEadd &
C.Due to excess concentration of O, in lungs
C.um Usiene 02—~ S Gl i€ odly ) —was S

D.aT0®! Thg! gl

D.None of these
D.u &S om0

iy I : o ; | it 1 I8 e=y
T g AN S e ] -l r‘__.:aulj..:-s:_'\-._,-.‘l‘-.u
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Answer: A dH Y CO, a1 3R T Igd did gob
A.Due to excess concentration of CO, in blood
A.ux 05A CO2 s a5 (S (i i€ odly ) w2 S

187 HAAT: WieiTel T Ielciel TaArdeh! 0T T Hehcia Geeldiel ATl Jasid IMe?

DIRECTIONS: In the given question find the answer figure in which question figure is embedded.

1S o> 5 upmai oS Jlpas guo etz oS Gl 35 sugas wolly wols gl - un Jlgas 265 2.3 2o ll»

(X) (A) (B) (C) (D)
A. (A)
B. (B)
C. (C)
D. (D)

Answer: D. (D)
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188 LI WA HTfgall diedoigdd ardl ST Erefd T e T
P,Q,R,S, T,V 30w Imyd Iid Ggurft 3ed. 1 @ dHfay | SA R anfr = wgant smed.
ddA A e | ®H HRAG- |, 11 T 1. U Teld U fary iU fpam usp R fhar uep

TgaT 3Tg. S g1 fary  31Tg 30Tt P Tad 111-37 TTeTd 3. P 81 Yl 3. I T TeTd $haes T Aol
GIRT AN 3fg. VBT a1y Q iad 1 HRdl, Sif W Hied &9 &xd ATel. Riee W, R Had HH Hd

gl
Tefididt HIoM - Sieid g R 3rdia?

DIRECTIONS: Study the following information carefully and answer the questions given below:

P,Q, R, S, T, Vand W are seven participants in a seminar. There are three students, two Lecturers and
two assistants among them. They work in three different groups I, Il and Ill. In each group there is one
student and at least one Lecturer or one assistant. S is a student and is in group Il with P, an assistant.
The other assistant is in group | with only T. V, a student works with Q who does not work with W.
Lecturer W does not work with R.

Which of the following pair expresses two Lecturers?

o s SOl K o a5l o5y e e S Glaslae J3 s ke by

PeQeReSeTeV sl W dlise 0 o5 -0 Oistaa 53 55) 5oaSal 5 cale Gllda (48 s (e ) -0 oS 58 Dl e Jliaps SO

G R el s 1 -0 Osbae Sl b aSal SGl oS oS ) ale (e oSGl (e s R neum 5SS 0 S = e Al S
G 8 o3 e P s 8 Oslas | gmis - o (stan Sl s e gl S| Gipea (e T 2 il S Ve ple Gl S0 Q il S
2 o BRASW e 2 S (e S il SWER - US (gl oS gl S

f 2SS b S Sl 93 65 (o S e J aa e

A.PW
A.PW
A.PW

B.PQ
B.PQ
B.PQ

C.PR
C.PR
C.PR

D.QwW
D.QW
D.QwW

Answer: D.QW
D.QW
D.QW
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189 I @ieltel 92T, oo s Araday giemd snedr fHas.
DIRECTIONS: In the question below, select the related figure from the given alternatives.

-LHJS‘__.:.iﬁ.u#p&uj :'I_E}J_:_i.u £ g an = ¥akiia -f_f_,;f-f_fsj i e .Jl_g.uu 2.8 Liialblss

N ANIEIE:
(a) (B (© D)

A. (A)

B. (B)

C.(C)

D. (D)

Answer: B. (B)

190 N8 T Teite ATl gui &,
1L2, 1M3, 1N4, ?
DIRECTION: Complete the following series.
1L2, 1M3, 1N4, ?
oS JeSe S G dd iyl S )

1L2, 1M3, 1N4, ?

A.105
A.105
A.105

B.2TO
B.2TO
B.2T0

C.105
C.105
C.105

D.1L2
D.1L2
D.1L2
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Answer: A.105
A.105
A.105
191 g e fhar 3fIsT <t SmAford Umelt 3.

are organized systems of two or more individuals

‘o s alaie Jaidia yy 28 213G g

AT &R0l
A.Mob
Aps

BId

B.Audience

C.9g
C.Group

C.es 8

D.7q
D.Crowd
D. 5

Answer: c.dqe
C.Group
C.es X

192 EINAECAR R R R R B e R A

Child development is defined as a field of study that

S o 8 S i (S A S a0 Pl S allas

AAMFG AT AT ded USdresul

A.Examines change in human abilities
A S &l S Yy g T Gae il (S ol

Bola@@Nd da- Tex0l S/l I &I Adl
B.Seeks to explain behavior across life span
B. = LS b cialiny (S ()l S (e mae 2 sy S (S
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cHadiler fganera I
C.Compares children to adults
C.o b8 m)lse gl S sl oy

DIAT 3HHaAd |, JHEMH IR AN T TRER 80T I TSI PRUNHT 3T

D.Accounts for the gradual evolution of child’s cognitive, social and the other capacities
Duﬁé&umﬁcm)\ eﬁge.\géu}'};ﬂ?\\ ﬁd )_5\ @LA»: Qé‘)d\ CS::._»

Answer: DIAN HHAADG |, MG IR AN T TRER 80T I AITST HRUNYT 3T
D.Accounts for the gradual evolution of child’s cognitive, social and the other capacities
Duﬁcﬁ'&umgcm)\ (a.\g/q(a.\gcsu}'}:ﬂe\ qu..d )_5\ ‘5;1..«»: Cé“)ﬁ‘ ngu

193 ATH 6,12,24,............. o 5d Ug e,
Find the 5th term of the sequence: 6, 12, 24,.............

24 12 6¢ =2\Saiesnih Sgomod ...

A.92
A.92
A.92

B.96
B.96
B.96

C.98
C.98
C.98

D.52
D.52
D.52

Answer: B.96
B.96
B.96

194 LGS [l L
‘Edusat’ is a—

PP RS G PR
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195

Answer:

ARG IU

A.Educational satellite
A posla

B.{dl® JUg
B.Instructional satellite
B.ouMi il

CYTah dH
C.Instructional technology
C.on s il

DS CEICIE]
D.Instructional device
D.All TN

ARME IU

A.Educational satellite
AN ol

AR dmaym gqg I fasiad Fef.

developed first group test of intelligence in Hindi.

iy Guu 5 8 Sy 1S illd (e sy

AEL I
A.Dr. Rice
Ao, SIS

B.31. T4. TH. HigRH
B.Dr S.M. Mohsin
B.omae al Gl I3

C.HgTaeg
C.Mahalanobis
C.ousVla

D.3 The d-c
D.Alfred Benet
D& & 6l

B.S1. TY. TH. HigRMA
B.Dr S.M. Mohsin
B.omns ol Ll SIS

GET IT ON
Google Play
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196 SR Sl b e |, Ibeaidc ed |, dedl peald ed |, Pedlad jed ¢d |, 3f0T yeddl giel ed |,
TR BRI YU SHaIdl Wos ehdl?

If ball is called racket, racket is called bat, bat is called football, football is called shuttle and shuttle is
called hockey, we can play baseball with

Doty e 55 ila S S S (il il S U oI oS Ly S ES S LSS S € L S i O S pad S i€ S

$om S daeS e S
Apeaid
A.Football
Al
B.RIcd
B.Shuttle
B.
cdc
C.Bat
C.2u
D.gid!
D.Hockey
D.Sb
Answer: A.WVW
A.Football
A
197 EEIRASICEIR U C R I ] p— ’
AHSR
B. AR
c.arel
RIK|
Answer: carst
198 DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options,

choose the one which can be substituted for the given phrasal Verb.
The army put down the rebellion.
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A.suppressed
B.agitated
C.excited

D.aroused

Answer: A.suppressed

199
AT Tl (FHET) Aol asamoear QA= ffar favey e (e aror goifaat ame
caTyETeY) 90° fRTaeh. feeredar aR wai e s St pdr ar ffadear Faem
Hpara gfafafeea & 3mg?

DIRECTIONS: When the key figure is rotated one step clockwise OR anticlockwise (depending upon
the direction of arrow shown), which of the Answer figures given will represent the main fisure in the
rotated form?

‘s)gf)wamu..]lJJbﬁsﬂfmeJJbuﬁ‘sﬁﬁywwgmmﬂw wollae
lm._ﬂu'lg?f j,—Ll:rl.-lugf,uﬁdslbn:ua)a)u./_JlsLuﬁJLulthJmuf

"'LiufuflulmuJJ—{m ilags oy pol> 055 < gu e
| Q! Angwer Figores
A B c - D

A. (A)

B. (B)

C. (C)

D. (D)
Answer: D. (D)
200 Wau®! LG aT DI ?

Ag RaSudid /a1 TRIYd e,
BT MaSUId [T URTHd Tcl.
C.a RaSu@id Il URIYd Ta.
DO HaSUId ™ TRTHd e,

Page- 126


https://www.adda247.com/?srsltid=AfmBOorxWlJHJat0hxykMSj0dTevsfMXFCCKkF-M1iJl0fZs38MiR7HD
https://play.google.com/store/apps/details?_gl=1%2Amx0b1g%2A_gcl_au%2AMTY5Nzk3MzE3LjE3NDQwMzIyMTI.&gl=US&hl=en_IN&id=com.adda247.app&pli=1

Adda

e

Answer:

AT TSUSId =T TRIHG el

GET IT ON
Google Play
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